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CIFA PART III SECTION 6

ADVANCED PORTFOLIO MANAGEMENT

FRIDAY: 27 November 2020. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your

workings.

QUESTION ONE

(a) Explain three sources of generating income from an equity investment portfolio. (3 marks)
(b) On Wednesday, the share price of Takuzi Ltd. closed at Sh.50 per share. On Thursday morning before the market

(c)

(d)

open, a portfolio manager decides to buy Takuzi Ltd.’s shares and transfers a limit order for 1,000 shares at
Sh.49.95 per share. The order expires unfilled. The share closes at Sh.50.05. On Friday, the order is revised to a
Jimit of Sh.50.07. The order is partially filled that day as 700 shares are bought at Sh.50.07. The commission is
Sh.23. The share closes at 50.09 and the order is cancelled.

Required:
The implementation shortfall in percentage. (4 marks)
(i) An analyst gathers the following data about asset allocation by a portfolio manager of ABC Capital:
Market Actual weight in market Benchmark weight in market Market return (%)
Equity 0.70 0.70 5.81
Fixed income 0.07 0.25 1.45
Cash 0.23 0.05 0.48
Required:
The contribution of asset allocation to performance. (3 marks)
(ii) Another analyst gathers the following data on a different allocation:
Market Portfolio performance (%) Index performance (%) Portfolio weight
Equity 7.28 5.00 0.70
Fixed income 1.89 1.45 0.07
Required:
The contribution of selection to total performance. (2 marks)

A portfolio manager is analysing a University Endowment Fund with three years financial projections as shown in
the table below:

Year Market value of the portfolio Additional capital injection (donations)
Sh.“million” Sh.“million”

2017 100 ; =

2018 130 40

2019 140 —

Additional information:

I The market value of the portfolio is quoted at the end of the financial year.

i The additional capital donations was at the beginning of the financial year.

3. The Sh.40 million donation was from alumni association.
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Required: (Q
(1) Money-weighted rate of return (MWRR), 3 @Qs}
Q)
(i)  Time-weighted rate of return (TWRR). {Qrzg%’ marks)

(iii) Advise on the most appropriate performance measure between the MWRR in (d) (i) abo nd TWRR in
(d) (ii) above given that the donation is unrelated to the manager’s market view. (2 marks)
(Total: 20 marks)

QUESTION TWO

(a)

(b)

(c)

William and his wife Kazoo recently inherited Sh.6,000,000 from their father and have approached Gerland Kisaka,
a portfolio investment specialist for investment advice. Both William and Kazoo are 30 years old. William is
employed in a steel manufacturing company earning a monthly salary of Sh.80,000 whereas Kazoo is a nurse
earning a monthly salary of Sh.36,000. Their four children are aged 6, 5, 4 and 3 years. They currently have no other
investments but have credit card with a debt of Sh.300,000.

During their interview with Gerland Kisaka, William made the following statements:
[ love being on top of the latest trends in investing.

My friend Kahunyo told me that the really smart investors holds shares for no more than a month. After
that if you haven’t made a profit, you probably won’t.

° Can you believe that my mother still have the same portfolio she had a year ago? How boring.

° Technology shares are hot, everyone is buying them.

Required:

(i) Giving reasons, determine the couple’s ability and willingness to take on risk. (3 marks)
(ii) Determine the couple’s time horizon constraints. (3 marks)
(iii) Determine the couple’s liquidity and legal/regulatory constraints. (2 marks)

Philip Ndavi’s Sh.25 million investment portfolio is invested in domestic equities and Treasury bills in the proportion
of 65% and 35% respectively. Philip decides to implement a constant mix rebalancing strategy by setting the multiplier
equal to a value of 0.5. He also determines that domestic equities are expected to generate a return of 12% in the
coming month.

Required:
Determine the value of equities to be sold to rebalance the portfolio should Ndavi’s forecast concerning domestic
equities materialise. (3 marks)

Grace Nyambura’s investment portfolio is allocated to equities and bonds in the proportion of 30/70. She is
exploring the potential for allocating a further Sh.3 million to the fund of funds (FOF) offered by a local hedge
fund. She collects the monthly return on the hedge fund and its benchmark the Hedge Fund Composite Index for the
previous year, 2019. She will use the data to forecast future fund performance. She plans to invest in the fund for a
period of eight months.

Monthly return for local hedge fund Fund of funds (2019)

Month Hedge Fund (%)

January 157

February 18.8

March —5.7

April 123

May 2.7

June 9.8

July 15.0

August —14.0

September —2.0

October 14.3

November 18.7

December 2.2
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Further, Grace evaluates whether the investment will improve the portfolio’s annualised risk-adjusted perfon@@e.
)

She compiles expected performance on the portfolio and hedge fund for the current year 2020. =
(%
Current performance of portfolio and Hedge Fund Investment (2020)
Existing ﬁs
Portfolio™ nvestment
Annualised return (%) 97 14.8
Annualised risk free rate (%) 22 2.2
Annualised standard deviation (%) 15.0 28.9

Correlation between portfolio’s return and hedge fund investment return is — 0.5

# Performance before the inclusion of the FoFs investment

Required: :
(1) The value of Grace's investment at the end of her investment horizon using the eight month
average rolling return, (6 marks)
(ii) Justify whether Grace should allocate Sh.3 million to the FoF. (3 marks)
(Total: 20 marks)
QUESTION THREE

Ken’s family charitable foundation (KFCF) plans to fund projects in perpetuity that will provide clean water in the country.
The current portfolio is worth Sh.250 million and is invested equally in equities and fixed income. The portfolio’s equity
holding are in a fund tracking a broad index of stocks and the fixed income are in a fund tracking on all maturity index of
government bonds. The portfolio of the foundation is rebalanced every six months. An analyst is hired to advise on KFCF’s
asset allocation and investments. ;

The foundation seeks to achieve the following objectives:

5 Spend at least 3% of the fund’s beginning value on projects each year in order to satisfy a legal requirement.

2, As part of this annual distribution, spend at least Sh.5 million (inflation adjusted each year on projects in its
county).

3 Minimise the likelihood of a decline in the portfolio’s value of more than 10% in any single year.

The analyst recommends that KFCF establish an investment policy statement (IPS) and globally diversify its portfolio. The
analyst discusses the asset only (AO) and asset liability management (ALM) approaches to setting KFCF's policy asset
allocation.

To better diversify the policy asset allocation, the analyst specifically recommends that the foundation consider adding the
following four asset classes:

Non domestic developed equities.

Emerging market equities.

Broad domestic fixed income including government and credit.

Alternative investments, including real estate, commodities and private equity.

The analyst evaluates whether adding an additional asset class to KFCF’s portfolio will improve its risk-return
characteristics.

Additional information:

1: The inflations rate is 0.5%.
2 The risk free rate is 1%.
3. The correlation between current portfolio and emerging market equities is 0.79.
4 Long-term capital market expectations:
Return (%) Standard deviation (%)
Current KFCF portfolio 4.5 6.5
Emerging market equities 75 13.5
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5. The analyst also evaluates available methods for determining the target asset class weights in the IPS. The analy,
decides to use a Monte Carlo simulation rather than a single period mean variance optimisation (MVO) to estal
these target weights. The KFCF has an above average risk tolerance. {b'g
Required: ; {Q
(a) Discuss why each of the following approaches could be appropriate in sefting H@olicy asset
allocation:
(1) Asset only (AO) approach. (3 marks)
(ii) Asset liability management (ALM) approach. (2 marks)
(b) Giving three reasons, explain why the set of six asset classes (current portfolio plus the analyst’s
recommendation) for the KFCF policy asset allocation are not appropriately specified. (6 marks)
() Determine, based on mean-variance analysis, whether emerging market equities should be added to the
current KFCF portfolio. (5 marks)
(d) Support with two reasons, the analyst’s choice of Monte Carlo simulation rather than mean variance
optimisation (MVO), to determine KFCF s target asset class weights. (4 marks)
(Total: 20 marks)
QUESTION FOUR
(a) Elucidate three factors that should be considered while selecting a fixed-income manager in portfolio management.
(6 marks)
(b) Distinguish between “macro attribution” and “micro attribution” as used in evaluating porifolio performance.
(4 marks)
(c) Omogi Ltd. has presented the following data relating to its portfolio account and the benchmark portfolio for the
year 2019:
Omogi Ltd. account Benchmark portfolio Market index
Return (%) 2.0 2.1 2.5
Beta (B) 0.8 0.8 1.0
Standard deviation (%) il 1.3 1.4
One year Treasury Bill rate (%) 0.2 0.2 0.2
Required:
Calculate the following performance measures for Omogi Ltd.’s portfolio and the benchmark portfolio:
(1) Sharpe ratio. (2 marks)
(ii) Treynor’s measure. (2 marks)
(iii) Explain the results obtained in (¢) (1) and (c) (ii) above. (2 marks)
(d) A manager has collected the following data on a bullet (no embedded options), a callable and putable bond of the

same issuer:

Bond A B C

G-Spread (basis points) 425 423 426
1-Spread (basis points) 429 426 429
Z-Spread (basis points) 435 434 434
Option adjusted spread OAS (basis points) 351 503 434
Price 95.00 97.00 99.00
Accrued interest per 100 par 0.60 1.10 0.75

The bonds are similar in all other regards.

The manager purchases Sh.3 million and Sh.2 million par of bond A and bond C respectively.

Required:
Calculate the most relevant measure of portfolio spread. (4 marks)
(Total: 20 marks)
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QUESTION FIVE Q)
(a) Highlight four sources of excess return for an international bond portfolio. (be'c"bl marks)
(b) A fixed income consultant reviews the bonds held by an insurance company. He wants to rebal the portfolio’s

money duration to Sh.240,000 while maintaining the existing security weights.

Security Price (Sh.) Market value in (Sh.) Duration

Government bond 96.42 771,360 1.2

Company K corporate bond 95.00 855,000 9.4

Company L corporate bond 104.00 728.000 9.1

Total - 2.354,360 =

Required:

Calculate the amount (in shillings) of cash required to rebalance the portfolio’s money duration. (6 marks)
(c) With respect to currency portfolio management, explain four active currency trading strategies. (4 marks)
(d) Davis Chirchir is currently based in the United States (US) and oversees the global equity fund offered by Triple A

Ltd., a portfolio management firm. The fund holds global (Canadian, Mexican and British) and domestic US
equities. Foreign currency exposutes are currently unhedged.

The table below shows the value of the fund assets, spot exchange rates and correlations between movements in
foreign currency asset returns and foreign currency returns:

Fund asset values, spot rates and correlations

Year

2018 2019
CAD-denominated asset value (in CAD millions) 100 150
MXN-denominated asset value (in MXN millions) 80 70
GBP-denominated asset value (in GBP millions) 230 300
USD-denominated asset value (in USD millions) 500 450
CAD/USD spot rate 0.7900 0.8100
USD/MXN spot rate 15.2420 15.0050
GBP/USD spot rate 1.4754 1.5000
Correlation between the currencies:
. (RCAD, RCAD/USD) +0.7
° (RMXN, RMXN/USD) -03
® (RGBP, RGBP/USD) +0.2

Naomi has her portfolio held in the fund and her allocation to CAD, MXN, GBP and USD denominated equities is
30%, 40%, 25% and 5% respectively. Naomi is yet to establish the degree to which currency risk exposures should
be hedged.

Where: CAD — Canadian Dollars
MXN — Mexican Pesso
GBP — Great Britain Pound
USD —  United States Dollar

Required:
(1) Calculate the domestic currency return on Naomi portfolio. (3 marks)
(i1) Describe three potential considerations which Naomi will need to account for when determining the degree

of currency risk exposure to undertake.

Your answer should focus on the information provided above.
(3 marks)
(Total: 20 marks)
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CIFA PART 11 SECTICN 6

ADVANCED PORTFOLIO MANAGEMENT

WEDNESDAY: 27 November 2019, Time Allowed: 3 hours, .

Answer ALL questions. Marks allocated to each question are shown at the end of the guestion. Show ALL your workings,

QUESTION ONE

(a)

(b

(c)

Uchaguzi Foundation has endowed Uwazi Limited Fund for monitoring electoral integrity, supervise elections and
political campaigns in a country implementing a new constitution and undergoing a political transition.

The Fund is headquartered in your country and it has received an initial grant of $h.200 million with an additional
$h.400 million expected to be received over the next three years. The Fund's charter expressly decrees that the Fund
should spend itself out of existence within 10 years of its founding rather than trying to become a permanent
institution.

Required:

(i) Recommend an appropriate risk objective and return objective for the Fund. {4 marks)

(ii) Analyse five investment constraints for the Fund. {5 marks)

(i) With an aid of a well labelled diagram, explain the term *“corner portfolio” as used in portfolio construction.
(2 marks)

(i) Identify three characteristics of an efficient portfolio in the context of strategic asset allocation. (3 marks)

Samuel Kimanzi and his wife Ruth, both aged 54 years are Kenyan residents. The couple is planning to retire next
year at age 55. They have approached Cabel Mutua, an investment advisor, to help them analyse their investment
strategy and retirement choices.

Once the couple retires, Ruth will receive annual payments from her company’s defined contribution (DC) pension
plan and both of them will receive payments from the National Secial Security Fund (NSSF). Samuel Kimanzi does
not participate in any company or individual retirement plan.

The investment advisor has compiled financial data and market expectations for the couple’s retirement as shown
below:
Financial Data and Market Expectations

Expected annual expenses 5h.1,000,000
Annual pension income from Ruth’s DC pension plan $h.320,000

Combined NSSF receipts $h.320,000

Total annual pension income Sh.640.000

Expected annual inflation 5.0%

Currently, Cabel Mutua estimates that the couple’s investment portfolio will grow to Sh.10 million by the retirement
date next year. The investment advisor recommends that they plan to pay off their mortgage by withdrawing Sh.1.5
million from their portfolio upon retirement.

Required: .
Geometric nominal return to be included in the couple’s investment policy statement (IPS). (6 marks)
(Total: 20 marks)
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QUESTION TWO

(a) Explain the following terms as used in fixed income portfolioc management:
(i) Ladder portfolio. (1 mark)
(ii) Barbell portfolio. ‘ (1 mark)
(i} Bullet portfolio. (1 mark)
(iv) Contingent immunisation. (1 mark)
(b) Examine three conditions that must be satisfied to immunise a portfolio. (6 marks)
(c) A client has asked you as his investment manager to match the absolute price sensitivity of its government bond
portfolio to the absolute price sensitivity of its liability benchmark.
Due to the nature of the liabilities, the duration of the liability benchmark remains constant.
At the beginning of the current financial year, the bond portfolio absolute price sensitivity was equal to the absolute
price sensitivity of the liability benchmark. At the end of the financial year, the manager is required to balance the
portfolio so that the absolute price sensitivity of the assets again matches the absolute price sensitivity of the liability
benchmark, while keeping the portfolio proportions of each bond unchanged.
The data required for rebalancing is provided below:
Government bond portfolio
Beginning of Year End of Year
Price Duration Price Duration
Bond 1 94.50 4.9 94.00 4.3
Bond 2 : 90.00 7.0 93.00 6.3
Bond 3 103.50 5.5 102.00 5.0
Note: Each bond has a total par value of Sh.100,000
Bond prices are shown as a percentage of par.
Required:
The amount of cash required for rebalancing the government bond portfolio. (7 marks)
L@ Catherine Messo is a portfolic manager with Zedmac Investments Limited, a regional Fund managers. She is
considering investments in alternative assets and decides to buy one August 5,000 bushel com futures contract at
Sh.250 per bushel.
The initial margin deposit is Sh.100,000 and the maintenance margin is $h.75,000. At the end of the following day,
the spot price of corn is Sh.245 and the price of August corn has fallen to $h.240 per bushel,
Required:
The deposit required to bring the account back to the required level. (3 marks)
(Total: 20 marks)
QUESTION THREE
{a) Propose two approaches that could be used by a portfolio manager in constructing a passive equity portfolio. (4 marks)
(b) Describe four limitations of the mean-variance optimisation (MVO) technique used in asset allocation. (4 marks)
{c) Kabaka Musa has approached his investment adviser for help to determine an appropriate asset allocation. During

conversations with Kabaka, the advisor finds that his risk-tolerance is average (A= 4) and that he would also like to
minimise the chance of earning less than 3%.
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The following asset allocations are available: )

Allocation Expected return (ER) Variance (¢°)

1 8% 0.0225

2 6% 0.0144

3 4% 0.0025
Required:
Advise Kabaka on the appropriate asset allocation, {5 marks)

(d} A client uses three long only portfolio managers for its equity investments. Details of those investments including
expected performance relative to client’s equity benchmark are provided below:
Clients equity portfolio managers Investment size Expected alpha Expected
(Sh.millions) tracking error

Manager D 100 0% 0%
Manager E 20 1.5% 2.5%
Manager F 10 2.0% 4.0%
Required:
't} Describe the approach used in constructing the portfolio for the client. (2 marks)
(ii) The expected alpha for the portfolio. (2 marks}
(iii) The expected tracking error for the portfolio. (3 marks)

(Total: 20 marks)
QUESTION FOUR

(a) Evaluate five key determinants of the optimal corridor width of an asset class in a percentage of portfolio rebalancing
program. (5 marks)
()] Assess four types of benchmarks which could be used in performance evaluation of a portfolio. {4 marks)
(e) ] Highlight three benefits of performance attribution analysis in portfolio management. (3 marks)
(i) The following information relates to John Meja, a portfolio manager respensible for managing Sh.100
million equity portfolios:
Portfolio’s actual Benchmark ‘ Sector return
weight in sector at weight in sector at (%)
Sector beginning of the beginning of the
. period (%) period (%)
Financials 35.00 30.00 6.50
Agriculture 20.00 30.00 320
Industrial 45.00 40.00 8.98

Additional information: )

I. The Portfolio manager invests at the local Securities Exchange and is currently using the equity index as the
benchmark.

2. The equity index return is 6.5%.

Required:
Sector selection attribute for the pdrtfolio. (5 marks)
(d) A Euro-based investor has a 75% position in a Great Britain Pound (GBP) denominated assets and a 25% position in
United States Dollar (USD) denominated assets. The results for the past one year are as follows:
Return for the GBP assets 12%
Return for the USD assets 5%
Beginning EUR/GBP exchange rate 1.1666
Ending EUR/GBP exchange rate 1.1437
Beginning USD/EUR exchange rate 1.332
Ending USD/EUR exchange rate 1.324
Required:
Calculate the investor’s return over the period in domestic (EUR) currency terms. (3 marks)
(Total: 20 marks)
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QUESTION FIVE

(a)

b)

(c)

(d

(e}

Distinguish between “top down approach” and “bottom up approach™ in relation to global credit bond paiifolio
management. {2 marks)

An investor has a Sh.10 million portfolio of bonds in a long position. Suppose the confidence interval is'95% and that
the actual daily standard deviation of the portfolio over one trading year is 3.67%. The investor pvefers to use risk
metrics approach to calculate value at risk (VaR).

Note: Risk metrics uses 1.645 as the Z-score for 95% confidence level.

Required:
(i) The value at risk (VaR) of the portfolio. . (2 marks)
(i) The value at risk (VaR) for a 1-month horizon {30 days). (2 marks)

Nancy Nderitu, an investor at the Securities Exchange has realised that the bid-ask prices for Orion Group Limited’s
shares are Sh.11.25 and Sh.11.30 respectively. A commission of $h.2,500 is charged on purchase or sale of shares.

Required:

The transaction cost assuming that Nancy decides to purchase 10,000 shares and seill them immediately. (2 marks)
Frankline Wafula is considering to purchase 10,000 additional shares of Safariland Limited. He is not certain whether
to use a market order or a limit order. The current limit order for the company’s shares at the Securities Exchange is
provided below:

Bid Ask
Price Size Time Price Size Time
Sh. ) ~ Sh.

27.96 100 11 am. 28.10 C 500 11 am,

27.95 500 11 am. 28.12 300 11 am.

27.91 1,000 11 a.m. 28.13 1,500 11 am.

27.90 5,000 i1am. 28.16 3,000 11 am.

27.89 2,600 11 am. 28.18 5,000 11 am.

27.87 3,000 11 a.m. 28.25 4,500 Il am.

27.86 400 11 am. 2827 4,700 11 am.
Required:
(i) The average price per share assuming that Frankline entered a market order to purchase 10,000 shares of the

company. (3 marks)

(i) The number of shares and average price per share assuming that Frankline entered a limit order of Sh.28.15.

(3 marks)

Both direct and indirect investors in private equity need to understand the basics of direct private equity investment in
order to have a grasp of its return and risk characteristics,

In light of the above statement, suggest three issues that must be addressed by a portfolio manager in formulating a
strategy for private equity investments, {6 marks)
. (Total: 20 marks)

CF61 Page 4
Out of 4



kasneb

CIFA PART 11 SECTION 6

ADVANCED PORTFOLIO MANAGEMENT

THURSDAY: 23 May 2019. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
{a) Explain the term “sector rotation” as used in portfolio asset allocation. {2 marks)
(b) Explain the following terms as used in portfolio performance evaluation:

(c}
(d)

(i) Performance attribution. (1 mark)
(i) Allocation effect. (1 mark)
{iii) Selection effeci. (I mark)
(iv) Interaction effect, (1 mark)

Discuss three reasons why an indexed bond portfolio is more expensive than an indexed equity portfolio. (6 marks)
A portfolio manager of Zuhura Investments Group, manages a Sh.280 million investment portfolio. Zuhura’s
investment committee has recently become risk averse in anticipation of a major announcement regarding monetary
policy to be issued by the Central Bank. To reflect this view, the portfolio manager, wishes to temporarily maké the
following changes in the ponfolio:

I. Decrease the equity portfolio allocation and decrease its equity beta,
2. Increase the bond portfolio allocation and decrease its modified duration,

The portfolio manager plans to use the fotlowing futures contract to achieve the over mentioned portfolio targets.

Equity futures
Currently priced at Sh.129,000 per contract (after accounting for the multiplier) with an equity beta of 0.97.

Bond futures
Currently priced at Sh.103,000 per contract, with a modified duration of 7.70 and a vield beta of 1.00.

The portfolio’s current and target characteristics are as shown below:

Investient portfolio characteristics

Current portfolio Target portfolio
Asset Modified | Equity | Allocation Asset class | Modified | Equity | Allocation -
class duration | beta Sh.*million” duration | beta Sh.“million”
Equities - 1.08 182 Eguities - 0.90 154
Bonds 7.2 - 98 Bonds 6.0 - 126
Required:
Determine the action (buy or seli} and the number of futures contract required to achieve the following:
(i) Equity targets. (4 marks)
(ii) Bond targets. ' (4 marks)
(Total: 20 marks)
CF61 Page 1
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QUESTION TWO

{a) James Kivuva, a recent graduate of the Certified Investment and Financial Analyst examinations, has been employed
at his county’s social provident fund as an assistant portfolio manager responsible for monitoring the fund portfolio.
Required: .

In light of the above statement, discuss three areas that James Kivuva should cover in his portfolio monitoring
assignment. _ (6 marks)

(b) Evaluate three risks that are associated with active investment management of equity portfolio. (6 marks)

(c) A United States (U.8) portfolio manager holds a porifolio of Spain equities currently worth 10 million Euros (€). He
is concerned that austerity measures being put in place by the newly elected government will lead to a potential
depreciation of the Euro. The portfolio manager decides to hedge by selling September futures contract on the Euro
that currently trade at $1/€ and expire in two months.

The spot exchange rate is $1/€. A month later, the value of the Spain portfolio is worth €10,050,000 and the spot
‘exchange rate is $1.05€ while the futures exchange rate is $0.95/€.

Required:

The return on the hedged portfoiio in dollar terms. (4 marks)

(d) An investor has approached you for advice on where to invest his savings. He is considering to invest in a collective
investment scheme (CIS). The following information relates to three mutual funds and their required rates of returns
for the last three years:

Period Annual returns (%)

Mutual fund

Year A B C

1 2 5 -8.3

2 9.5 8.2 7.5

3 —4.7 —6.4 7.6

Required:

(i) The annualised rate of return of the three mutual funds for the period under review. {3 marks)

(ii) Advise the investor based on your results in (d) (i) above. (1 mark)
(Total: 20 marks)

QUESTION THREE

(a) Kopa Fund generated a return of 11.2% over the past [2 months, while the benchmark portfolio return was 11.8%
for the same period. The following information is provided:

Factor sensitivity (betas) Factor

Factor Portfolio Benchmark Risk premium (&)

Price-eamings (P/E) 1.10 1.00 -5.00%

Size 0.69 1.02 2.00%

Required:

(i) Attribute the cause of difference in returns using a fundamental factor model with the two factors provided

above. (4 marks)

(ii) Describe the manager’s apparent skill in factor betas. (2 marks)
(b} Discuss three phases of an individual’s investment life cycle. (3 marks)
(c) A portfolio is composed of domestic equity portfolio and international equity portfolio. The expected retum for

domestic equity portfolio is 11.8% and has a standard deviation of 20.3% while the expected retum for international
equity portfolio is 9.2% and has a standard deviation of 18.4%. The correlation between domestic equity portfolio

and international equity portfolio is 0.66.

Required:

(i) Determine the allocation for the global minimum-variance portfolio. (3 marks)
(ii) The standard deviation of the combined portfolio. (3 marks)
(iif) The expected retwrn of the combined portfolio. (1 mark)
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A portfolio statistics for the company’s liabilities and three proposed portfolios; A, B and C are shown in ihe

(d)
~ following table:
Statistics Company liabilities Proposed portfolios
A B C
Market value (Sh.) 457,780,900 460,000,000 460,000,000 460,060,000
Modified duration 7.52 7.51 7.53 7.37
Convexity 45,12 35.14 46.29 65.97
Basis point value (BPV) 344,250 343,100 345,400 339,120
Additional information;
I. All calculations are annualised and based on aggregate portfolio cash flows.
2. Each portfolio is considered sufficient to pdy the liabilities.
3. The company also expects high volatility and potential for very large parallel shift in the yield curve,
Required:
(i Determine with reasons the most appropriate portfolio to immunise the liabilities. {2 marks)
(ii) Assuming that the company’s expectations are correct, select with reasons the other portfolio most likely to
be considered. (2 marks)
(Total: 20 marks)
QUESTION FOUR
(a) Evan Walibora, aged 35 years , just retired from a successful career as a professional football player. He is meeting
with his financial advisor to update his investment policy statement (IPS),
The foliowing information is provided:
1. Income :
Evan receives pension from the professional football association during retirement. This annual payment
will total Sh.375,000 pre-tax in the coming year. In future vears, this amount will be indexed for inflation,
which is expected to be 1.25% per annum. The pension is taxed at the rate of 30%.
2. Expenses
Evan living expenses over the previous twelve months were Sh.400,000. He anticipates these expenses will
grow at the expected rate of inflation this year and in each future year.
3 Assets : '
In addition to his pension payments, Evan has an advisor managed investment portfolio currently valued at
Sh.5,200,000. Next week, he intends to make a direct equity real estate investment of Sh.450,000 in a sports
training facility. The real estate holding will be excluded from his advisor managed investment portfolio,
Further, in the coming days, he will receive a performance cash bonus of Sh.1.100.000 and it will be
immediately invested in his portfolio. This bonus is subject to a tax at a rate of 30%.
4, Goals '
Evan expecis his portfolio to fund any expenses not covered by his pension, while maintaining its real value
over time. He is eager to consider investments in more risky asset classes. He is not concerned about
volatility in the value of his portfolio as long as it continues to support his living expenses. He does not
intend to seek further employment in retirement.
The advisor concludes Evan’s risk tolerance is above average. It is assumed that pension payments and
ongoing expenses are end of year cash flows.
Required: y
(i) Determine Evan’s nominal after tax required rate of return for the coming vear, (6 marks)
(ii) Identify two factors that indicate Evan has a high ability to take risk. ' (2 mﬁrks)
(iii) Formulate the time horizon and unique circumstances constraints section of Evan’s investment policy
statement (1PS). (4 marks)
(b} Hassan Ali, a junior financial analyst has been tasked by the portfolio manager to develop an investment strategy for
private equity investment.
In light of the above statement, advise Hassan on three issues that must be addressed when formulating a strategy for
private equity investment. (3 marks)
{c) An endowment fund has an annual return objective of 9% which is sufficient to cover its spending rate, expected

inflation and cost of eaming investment returns. lts risk objective is to minimise risk as measured by standard
deviation of returns while meeting its minimum expected return objective. The table below provides the output from
a mean-variance optimisation with a budget constraint and a non-negative constraint:
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Expected return Standard deviation of returns

(%) (%)
Allocation AA 15 24
Allocation BB 18 27
Allocation CC 12 20
Allocation DD 10 14

The risk-free rate is 3%. The fund believes a true risk-free asset exists and could be used to construct a strategic asset
allocation (SAA).

Required: .
The risk of the optimal allocation. (5 marks)
(Total: 20 marks)
QUESTION FIVE
(a) In the context of portfolio execution decision, analyse four types of traders based on motivation to trade, (4 marks)
(b) An investor executed the following series of trade on 10 May 2019;
Number of shares Market price per share (Sh.)
500 10.00
300 10.05
200 10.10
Required:
(i) The average price of the three trades. (1 mark)
(ii) The velume weighted average price (VWAP) of the trade. (2 marks)
(c) Explain three types of costs associated with portfolio rebalancing decision. (3 marks)
(d) The following information was obtained from the records of George Hesabu, a professional investment manager at

Inubuka Investment Fund Manager (11FM):
+  Strategic portfolio allocations

Portfolio rebalancing costs

Asset class Target allocation Averagereturns  as a % change in mix
(%) (%) Sh.“000”
Kenyan Equities 30 15 500
Non Kenyan Equities 20 18 600
Kenyan Government Bonds 20 11 200
Non Kenyan Government Bonds 20 12.5 250
Commodities 10 10 100

«  George Hesabu is considering rebalancing the asset mix of his portfolio and the following two cases have been
proposed which are all within the rebalancing threshold as per the investment policy document:

Rebalanced target (%) Allocations (%)

Asset class Case A Case B
Kenyan Equities 20 35
Non Kenyan Equities 25 30
Kenyan Government bonds 15 10
Non Kenyan Government bonds 25 15
Commodities i5 10
Required;
(i) Expected average retum on the portfolio of the current asset allocation. (2 marks)

(ii) Expected average return on the portfolio after rebalancing for both Case A and Case B. (4 marks)

(iii) Assuming that the investor’s objective is to minimise costs and maximise returns. Advise George Hesabu
on the rebalancing option that he should consider. (4 marks)

(Total: 20 marks)
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CIFA PART 111 SECTION 6

ADVANCED PORTFOLIO MANAGEMENT

THURSDAY: 29 November 2018. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
{(a) Evaluate three principles underlying tactical asset allocation. (6 marks}
(b) AMN Ltd. is considering freezing its defined benefit plan (DB) and migrating to a defined contribution (DC) plan.

The DC plan would be funded by a combination of company and empioyee contributions, with immediate vesting for all
employees.

Required:
Assuming AMN Lid. migrates from DB plan to DC plan:
(1} Propose three advantages that would accrue to AMN Lid. (3 marks}
(i) Explain three advantages that would accrue to the employees of AMN Ltd. (3 marks}
(c) An analyst has gathered the following data about a portfolio for the month of September 2018;
Sh.,
Sh.*000”
Fair value, 31 August 2013 16,575
Cash contribution, 12 September 2018 2,265
Fair value, 12 September 2018* 19,550
Fair value, 30 September 2018 19,250
Note: * Includes cash contribution of $h.2,265,000 received and available for investment on 12 September 2018.
Required:
(i) The approximate time weighted rate of return for the month of September 2018 using the moditied Dietz
formula. {3 marks)
(ii} The true time weighted rate of return for the month of September 2018, {3 marks)
() iatena Ltd. manages a broadly diversified portfolio of global investment grade and high yield corporate bonds for its
client. Latena Ltd.’s fixed income research team consists of a portfolio manager and three credit anatysts who review
and manage the portfolio. The portfolio manager uses a top-down approach while the credit analysts use a bottom-up
methodaology. _
Required:
Contrast the approach used by the portfolio manager and the approach used by the credit analysts. (2 marks)
(Total: 20 marks)
QUESTION TWO
{a) Assess four factors that could explain the sources of abnormal return in the pertormance evaluation ef international
portfelio managers. (4 marks}
(b) Benson Mogaka is a member of the investment commitiee of a local foundation with Sh.950 million in assets that

supports medical research relating to malaria.

CF61 Page 1
Out of 4




For the annual asset allocation review, Mogaka has prepared the following set of capital market expeciations:

Asset class Expected return Standard deviation Correlation
(%o) (%) | 2 3 4
Bomestic equities 8.6 20 1.00
Non domestic equities 6.7 15 0.65 .00
Domestic bonds 4.1 10 0.34 0.25 1.00
Real estate 5.0 k2 0.50 0.35 0.7 [.00

Based on these capital market expectations. Mogaka has developed the following analysis:

Corner portfolios

Portfolio Expected  Standard  Sharpe Asset class (Portfolio weight)
return deviation ratio
(%) {"%) 1 2 3 4

(%) (%) (%} (%)

] 8.60 20.00 0330 100,00 ¢.00 124] 0.0

2 7.91 16.78 0.352 63.53 3647 0.0 0.0

3 7.55 15.48 0.358 53.22 37.23 0.0 9.55

4 5.03 8.42 0.360 0.00 24.70 43.30 32.00

5 4.69 8.15 0.329 0.00 10.90 35.56 33.54

Additional information:

1. The local foundation’s spending rate is 3.5%.

2 The expected leng term inflation rate is 2.25%.

3. The cost ot earnings investment returns has averaged 43.6 basis points annually.
4 The risk-free rate is 2.0%.

Required:
(i) Describe how corner portfolios arise. (2 marks}
(ii} Compute the local foundation’s return requirement. {2 marks}
(iii) Recommend the strategic asset allocation that Mogaka should present for approval at the asset allocation
review meeting. (6 marks)
(c} A summary of a portfolio manager’s performance when compared to a benchmark is provided below:
Country Benchmark Return on Currency Manager's Manager’s
weight equity index appreciation weight return
(%) (%) (%)
A 0.30 Lo 0 0.35 8
B 0.10 5 -10 0.10 7
C 0.60 15 30 0.53 I8
Required:
Determine the contribution of the following selections to overall performance:
(i} Currency selection. {2 marks)
(ii) Country selection. (2 marks)
(iii) Stock selection. (2 marks)
(Total: 20 marks)
QUESTION THREE
(a) Analyse four changes in investors circumstances that could necessitate the need for portfolio revision by the fund —
manager. (4 marks)
(b) An investor is holding a portfolio in the following classes of assets: Equities, Bonds, Cash, Property and Commoditics.

Upon reading his investment policy document you find the following information:

Asset Allecatien policy (%)
Minimum Maximum

Equities 20 40

Bonds 10 30

Cash 10 20

Property 5 25

Commodities 5 25
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(c}

The average yield on the asset investments is also provided below:

Asset Average yield (%)
Equities 15
Bonds 8
Cash 5
Property 20
Commodities 10

Currently, the investor has allocated his capital in the following proportions: 35% in Equities, 25% in Bonds, 10% in
cash, 25% in property and 5% in commodities. The investor is however not sure whether this allocation provides the
optimal return on his portfolio and has sought your advice on whether or not he should consider revising his allocation.
He has provided you with the following suggested asset allocation from different investment analysts:

Investment Analyst Asset Atlocation Advice {%)
Equities Bonds Cash Property Commodities
A 40 10 15 25 10
B 38 20 12 20 10
C 30 25 10 25 10
Required:
(i) Expected return on the pottfolio based on the current investiment policy. (3 marks)
(ii} Evaluate the three pieces of investment advice provided to the investor and advise him whether to change the
current asset allocation, (6 marks)

The fellowing performance aitribution analysis is provided for three portfolio managers:

Manager A Manager B Manager C

(o) (%) (%)
Actual return 19.1 17.0 12.6
Benchmark portfolio 14.9 15.2 12.6
Active management return ? {99 (M (53) ? {3
Component of returns:
Market timing 02 (40 0.6 (64) 0.5 (73
Industry exposure 02 (20) -2.0 (3% 03 (34)
Sector emphasis 2.2 (99) 3.9 (99) 0.3 50
Security selection 1.9 (84) 0.6 (43) 0.1 (7)
Unreconciled return 0.1 0.1 02

Note: The values in bracket denotes the confidence level.

Required:

(i) Calculate the active management returns for each portfolio manager. (3 marks})
(it) Comment on the performance of each of the portfolio managers. (3 marks)
(iii) With specific reference to Manager A, is the performance attributable to skill or luck? Explain. (1 mark)

{Total: 20 marks)

QUESTION FOUR

(a)
(b)
{©)

Describe three criteria that could be used by an investor while selecting a fixed income manager, (3 marks)
Examine three active currency management strategies in the context of currency portfolio management. {6 marks) —

An investment manager manages a $h.500 million corporate bond portfolio with a weighted average duration of 5 years.
Over the course of the year, the investment manager turns over the portfolio 80% and pays an average bid-ask spread of
3 basis points.

Required:
Calculate the portfolio trading costs. (2 marks)
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{d) The following information is provided about three portfolios and the market porttolio:

Portfalio Expected return {%) Standard deviation {%) Beta factor
A 13 13 0.90
B 17 22 1.05
C 6 23 t.20
Market 14 20 -

The risk-free rate is 8%.

Required: .

Evaluate the performance of the above porifolios using the following performance measures:

(i) Jensen’s measure. (3 marks)
{ii) Treynor’s measure. - : {2 marks)
(iii) Sharpe’s ratio. {2 marks)
(iv) Information ratio. (2 marks)

(Total: 20 marks)

QUESTION FIVE

(a) Examine two approaches that a porifolio manager could employ to hedge currency risk in an international bond
investment. {4 marks)
(b) A hedge fund consultant is approached by a hedge fund which is concerned with developing techniques to reduce

negative skewness in a hedge fund investment return.

Required:

Analyse two techniques that could be used to reduce negative skewness in a hedge fund investment return. {4 marks}
(c) Outline three important characteristics of bond immunisation. (3 marks)
(d) A fund manager responsible for overseeing a Sh. 2 billion portfolio of government bonds expects the portfolio will earn

a return of 8% over the next year. However, his client requires a one-year return of 10%. The manager believes he can
enhance returns by leveraging the portfolio. He plans to borrow at an interest rate of 5% per annum and invest the
proceeds in government bonds identical to those held in the portfolio. The duration of the bond portfolio is 10 and the
duration of the borrowed funds is 1.

Required:
(i The amount the manager needs to borrow to increase the one year return from 8% te 10%, {3 marks)
{ii} The duration of the leveraged portfolio. {3 marks)
(e) Hillary Langat, a stockbroker at Faida Stock brokerage services has the following quotation in his order management
system:
Stock ticker Trade size Average Daily Price Speed Urgency
volume {Sh.) (%)

A 20,000 250,000 24.67 0.06 Low

B 50,000 125,000 12.18 0.45 Low

C 150,000 2,500,000 37.88 0.05 High
Required;
Discuss the appropriate trading strategy that should be used to place each order. (3 marks) —

(Total: 20 marks)
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CIFA PART III SECTION 6

ADVYANCED PORTFOLIO MANAGEMENT

THURSDAY: 24 May 2018. Time Allowed: 3 hours,

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

(a)

(b)

(c)

(d)

Argue four cases against the use of volume-weighted average price (VWAP) when evaluating trade executions.

{4 marks)
The following information relates to trade executions of MIC Ltd. shares at Mesdaq Stock Exchange (MSE):
I, On Wednesday, 9 May 2018, MIC Lwd.’s shares closed at a market price per share (MPS) of Sh.50.00.
2, On Thursday, 10 May 2018 before the market opens, a trader places a limit order for 1,000 MIC Ltd. shares at
5h.49.95. The order expires unfilled. The company’s shares close at a MPS of $h.50.05.
3. On Friday, 11 May 2018, the order is revised to a limit of $h.50.07. The order is partially filled that day as 700

shares are bought at 3h.50.07. The commission is Sh.23.00. The company shares close at Sh.50.09 and the
order is cancelled.

Required:
The total implementation shortfall (IS). (8 marks)

The board of trusiees of the Western Koru Ltd. pension plan is considering adding direct real estate investments to its
diversified, Sh.500 million pension fund portfolio. This would be accomplished by acquiring commercial office
buildings, shopping centres, industrial warehouses and residential properties. A consultant advised the board as follows:

“Our mean-variance computer model uses statistical data to optimise all asset classes. Based on that model,
I recommend an optimal portfolic for Western Koru Ltd. consisting of 40% allocation of the portfolio to direct real
estate investments given the risk and return objectives set by the board for the fund”.

Required: J
Evaluate the consultant’s statement by addressing the retum and risk characteristics of the data and the resulting
recommendation of the consultant. {4 marks)

Mark Mutisya is an analyst for a fund sponsor in his country. The fund sponsor uses two equity managers (Manager A
and Manager B) and each manager invests in developed and emerging markets. He prepares a performance attribution
analysis for the total fund. He identifies the fund's sources of return and develops the macro attribution table below:

Total fund level
Macroattribution for 1 January - 31 March 2018

Decision making level Fund value Incremental return Incremental value
(investment alternative) Sh. “000™ Contribution contribution/withdrawal
(%) Sh. “000”

Beginning value 360,000 - -

Risk-free asset 361,800 0.50 1,800

Asset category 388,872 7.52 27,072

Benchmarks 389,376 0.14 504

Investment managers 389,664 0.08 288

Allocation effects 389,304 -0.10 (360)

Total fund 389,304 8.14 29,304
Required:
(i) Determine whether the total fund outperformed the pure indexing strategy. (2 marks)
{ii) Determine how much of the fund’s return was due to style bias and active management. (2 marks)
: (Total: 20 marks)
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QUESTION TWO

(@)

®

Jacksen Maina is a portfolio manager managing a Sh.200 million portfolio for a client. His proprietary research has !ed
him to believe that the share price of Athi Ltd. will increase substantially. Athi Ltd. is currently trading at Sh.9.77 per
share. He wants to purchase 1,000,000 shares of Athi Ltd. for the.client’s portfolio as quickly as possible with minimal
effect on the share price. Average daily trading volume in Athi Ltd. over the previous 10 days was 1,500,200 shares.
Jackson decides to use “advertise-to-draw-liquidity” techniques for this trade execution.

Jackson also buys 3,000 shares of TwoStream Homes (TSH) Ltd. for the client’s portfolio. TSH Lid. trades on a quote
driven dealer market and has an average daily trading volume of 25,000,000 shares. His order is executed in two wrades
as shown below. He analyses the trading costs of the entire transaction,

TSH Litd. trade data

Bid price Bid quantity Ask price Ask Trade price Trade quantity
{Sh.) (shares) (Sh.) quantity (Sh.) {shares)
(shares)
First trade 21.07 3000 21.13 2500 21.13 2000
Second trade 21.05 3000 2l.1 2500 21.09 1000

Six months later, Jackson discusses three potential rebalancing strategies with his client: buy and hold, constant mix and
constant-proportion portfolio insurance (CPPI). To manage risk, Jackson rebalances the client's portfolio by adjusting
the allocation between equities and money market instruments. The client is willing to invest a greater proportion of his
wealth in risky assets as his portfolio value increases. Jackson believes the recent bull marker has ended and the market
will be flat but oscillating. His objective is to choose the rebalancing strategy with the highest expected return that is also
consistent with the client’s risk tolerance.

' :?)eqmre%xplain two disadvantages of Jackson’s proposed technique for the Athi Ltd. trade execution. (2 marks)
(ii) Calculate the share-volume-weighted effective spread for the TSH Ltd. transaction, (3 marks)
(iii) Determine, given Jackson’s objective, the most appropriate rebalancing strategy. (I mark)
(iv) Explain why the two strategies not selected are less appropriate. {2 marks)

Annitta Mwilu is an investment advisor for institutional clients. She advises the Welcare Endowment Fund (WEF) and is
tasked to recommend an optimal asset allocation. The objective of the WEF is to achieve a nominal return of 8.0% per
annum with the lowest possible level of risk. The WEF board of directors’ risk management policies include a maximum
standard deviation of 14.0% and prohibit the use of leverage. The table below provides the results of a mean-variance
optimisation (MVO} based on an annual inflation rate of 1.5% and a risk-free rate of 0.5%.

WEF corner portfolios

Asset class weights (%) -

Corner Expected Expected Expected  Domestic

portfolio return standard Sharpe equity International Corporate Government

: ‘; (%) deviation (%) ratio equity bonds bonds

: | 9.0 18.0 0.47 100 0 [ 0

2 8.90 16.2 0.52 90 10 0 0

3 8.60 13.8 0.59 75 20 5 0

4 7.65 11.2 0.64 60 15 15 10

3 700 10,5 0.62 50 10 25 15

Annitta advises the board to allow the use of leverage. She proposes a strategic asset allocation that combines the corner
portfolio closest to the tangency portfolio in the above table with a risk-free borrowing rate. WEF's annual nominal
return objective remains at 8.0%. .

Required:
(i) Recommend two comer portfolios that Annitta Mwili should use for the optimal asset allocation to achieve
~ WEF’s fund retum requirement. (2 marks)
(ii) ‘Determine the weights for each of the two comer portfolios recommended in (b} (i) above. (3 marks)
(iii) Calculate the optimal level of leverage necessary to achieve WEF’s return objective. . (4 marks)
{iv) Determine whether iﬁe unleveraged or leveraged strategic asset allocation offers lower expected volatility to
achieve WEF’s return objective. _ (3 marks)

(Total: 20 marks)
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QUESTION THREE :
(a) Outline two advantages and two disadvantages of using each of the following benchmarks when evaluating portfolic

performance:

i) Custom security-based benchmarks. _ _ (4 marks)

(i) Factor-model-based benchmarks. (4 marks)
(b} Sospeter Onyange, a portfolio manager with Stanbix Asset Managers (SAM) was provided with ti data in the table

below to appraise the performance of four asset management firms;

Performance appraisal data :
Fund W FundX FundY FundZ  Market index

Return (%) 6.45 8.96 9.44 5.82 7.60
Standard deviation (%) 2.74 4.54 3.72 2.64 2.80
Beta 0.88 1.02 1.36 0.80 ©1.00

The risk-free rate of return for the relevant period was 3%,

Required:

Compute the following risk-adjusted performance measures for the four funds:

{i) Jensen’s alpha measure. _ {3 marks}
(i) Treynor's measure, (3 marks)
(iii) Sharpe ratio. o {3 marks)
(iv) M? measure. {3 marks)

(Total: 20 marks)

QUESTION FOUR
(a) Identify four challenges that you are likely to face when managing emerging markets’ currency exposures. (4 marks)

(b) Argue four cases against the use of mean-variance optimisation (MVQ) approach to asset allocation. (4 marks)

{c) A global investor has invested Sh.100,000 in a global equity portfolio made up of United States (US), Asian and
European stocks. On 31 December 2017, the portfolio consists of 500 shares of IBM listed in New York, 200 Sony
Corporation shares listed in Tokyo, Japan and 50 shares of BMW listed in Frankfurt, Germany. He intends to beat the
world index used as a benchmark. This index has a 50% weight in the US stock index, a 25% weight in the Japanese
stock index and a 25% weight in the European stock index. The country components of the portfolio have an average
risk relative to their respective country indices. He uses the United States dollar (USD) as the base currency. On
31 March 2018, his portfolio had gained 4.065%, while the world index gained only 0.735% in USD, He wishes to
understand why his portfelio had such a good performance over the quarter. All the necessary data is provided below.
There were no cash flows in the portfotio and there were no dividends paid.’

Global equity portfolio: Composition and market data
Portfolio | Number | Price in local currency Portfolio value on Portfolio value on
of shares 31 December 2017 31 March 2018
31 December 2017 | 31 March | Local usp Loeal USD
2018 currency currency |
US stocks: _
IBM 500 100 105 50,000 50,000 52,500 | 52,500
Japanese
stocks:
Sony Corp. 200 103,000 11,000 | 2,000,000 20,000 | 2,200,000 | 20,952
European
stocks:
BMW 50 600 600 | . 30,000 - 30,000 30,000 | 30,612
Total 100,000 | . 104,065
Market data 31 December 2017 31 March 2018
World index in USD 100 100,735
US Index in USD 100 103
Japanese index in Yen 100 105
European index in Euro 100 - 95
Yen/USD 100 105
Euro/USD 1 0.98
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Required:

(i) Decompose the total return on the portfolio paid into capital gains (in local cumrency) and currency

contribution. (4 marks)

(i) Determine the contribution of security selection. {4 marics)
(iii) Attribute the performance relative to the benchmark (world index) to the various investment decisions.

(4 marks)

(Total: 20 marks)

QUESTION FIVE

(a)
(b)

(d}-

Explain four international bond portfolio management styles. (4 marks)

Global credit portfolio management presents a complex challenge. Each day, hundreds of credit portfolio managers face
thousands of choices in the primary (new issue} and secondary markets. In addition to racking primary and secondary
flows. investors have to keep tabs on ever-varying issuer fundamentals, creditworthiness, acquisitions, earnings and
credit ratings among others. The task of global credit portfolio management is o process all of this rapidly changing
information about the credit markets (issuers, issues, dealers and competing managers) and to construct the portfolio
with the best return for a given risk tolerance,

Required:

In relation to the above statement, discuss five methodologies for credit relative-value maximisation. {5 marks)

The board of directors of Kenbrite Financial Services (KFS) are considering hiring a consultant to advise on fixed
income portfolio management. They invite candidates for a presentation on the topic “*bond portfolio immunisation”.

The following are some of the statements that were made during the presentation:

i A great thing about immunisation is that it is a set-and-forget strategy. That is, once you have immunised your
portfolio, there is no subsequent work to be done.

2. The immunisation target rate of return is less than yield-to-maturity.

3. If a portfolio is immunised against a change in the market yield at a given horizon by matching portfolio
duration to horizon, the portfolio faces no risk except for default risk.

4, The liquidity of securities used to construct an immunised portfolio is irrelevant.

5. In general, the entire portfolio does not have to be turned over to rebalance an immunised portfolio.

Furthermore, rebalancing needs to be done on a daily basis.

Required:
Critique each of the above statements, (5 marks)

Anthony Kipngetich, a rader in the options market, was provided with the following information:

Market price per share (MPS) Sh.46.00

Exercise price of a call option Sh.45.00

Call premium Sh.5.00

The delta value 0.5420

Number of call options sold 1000

Value of delta at the end of the previous day 0.6400

Continuously compounded risk-free rate 4,5%

Required:

(i) The number of shares needed to deita-hedge the call position at the end of the previous day. (1 mark})

@i The market value of the portfolio today given that at the end of the previous day, there was a loan balance of
Sh.3,000. (2 marks}

(iii) ‘Assuming that the market price per share is 5h.45.50 and the call premium is Sh.4.71 the following day,
calculate the market value of the delta-hedged portfolio and compare it with a benchmark based on the market
value of the delta-hedged portfolio calculated in (d) (ii} above. (3 marks)

- . (Total: 20 marks)
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CIFA PART LI SECTION 6

ADVANCED PORTFOLIO MANAGEMENT

THURSDAY: 30 November 2017, Time Allowed: 3 hours,

Answer ALL questions, Marks allocated to each question are shown at the end of the question. Show ALL your workings,

QUESTION ONE
{a) in the context of asset allocation, explain the tollowing terms:
(i) Strategic asset allocation. (1 mark}
(ii} Tactical asset atlocation. (1 mark)
(i) Asset/liability management (ALM) approach. {1 mark)
(iv) Asset only (AO} approach. (| mark)
{v) Mean-variance approach. (1 mark)
{b) Apco Capital, an investment management firm has a client intending to temporarily reduce his exposure to equities by
converting a Sh.25 million equity position to cash for a period of four months. The client would like this reductien to
take place without liquidating his equity position. Apco Capital plans to create a synthetic cash position using an equity
futures contract. The futures contract is priced at Sh.1.170.10, has a multiplier of Sh.250, and expires in four months.
The dividend vield on the underlying index is 1.25% and the risk-free rate is 2.75%,
Required:
(i) The number of futures contracts required to create a synthetic cash. (2 marks)
(i) The effective amount of money commitied to this risk-free transaction and the effective number of units of the
equity index that are converted to cash. (3 marks)
(iii) Assume that the equity index is at 1031 when the futures contract expires. llustrate how this strategy is
equivalent to investing the risk-free asset, cash. (3 marks)
(c) Kennedy Imanyara, a portfolio manager, believes that the market will be volatile in the near future, but he does not feel
particularly strongly about the direction of the movement. With this expectation, he decides to buy both a call and a put
with the same exercise price and the same expiration on the same underfying stock trading at Sh.28. He buys one call
option and one put option on this stock, both with an exercise price of Sh.25. The premium on the call is Sh.4 and the
premium on the put is Sh.1.
Required:
(i) Identify the term commonly used to refer to the position taken by Kennedy Imanyara. (1 mark})
(ii) Determine the value at expiration and the profit for lmanyara’s strategy when the price of the stock at
expivation is $h.35, Sh.29 and Sh.25 respectively. {6 marks)
(Total: 20 marks)
QUESTION TWO
(a) In relation to portfolio performance evaluation:
(i) Compare and contrast the terms “macto attribution™ and “micro atiribution™. (2 marks)
{ii} Discuss three inputs that could be used under micro attribution approach. (3 marks)
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(b) In practice, an acceptable benchmark is one that both the investment manager and the plan sponsor agree represents the
manager’s investment process. However, in order to function effectively in performance evaluation, a benchmark should
possess certain basic properties.

Required:
In relation to the above statement, highlight five propetties of a valid benchmark. (5 mark)
i
©) Simon Ageyo, an international bond portfolic manager is considering two bonds for investment. The iwo bonds are '

compartable in terms of risk characteristics. The following information relates to the two bonds:

Country Nominal Risk-free Exchange rate per

return (%) rate (%o) domestic currency ]
A 9.75 8.5 30
B 4,758 3.25 3.0 i
Domestic Not applicable 5.75 Not applicable |

Additional information:

1. Country A’s currency is expected 1o depreciate against the domestic country’s currency by 2.6%, i
2. Country B's currency is expected to appreciate against the domestic country’s currency by 2.6%.
Required:
() Determine the bond that Simon Agevo should select on a fully hedged basis. Justify your answer, {3 marks)
(i) Assuming that Simon Ageyo selects the bond identified in (¢} (i) above, explain whether the bond’s currency
exposure should be hedged. (3 marks)
@ David Mwanzia is evaluating an active manager, C Limited. The selected information for other active managers as well

as their normal benchmark returns and investor benchmark returns are presented below:
Active portfolio managers’ characteristics and benchmark information

Manager’s Normal benchmark  Investor benchmark  Total active  Misfit active

Portfolic manager veturn (%) return (%) return (%) risk (%) risk (%)
A 15.00 .25 $.50 6.05 440
B 13.20 14.25 7.50 4.68 3.40
C £2.75 15.00 10.060 5.50 4,00

PM Lid. follows a passive investment strategy that is itmplemented using exchange-traded funds.

David Mwanzia proposes to construct a core satellite portfolio with the following allocations: 45% in PM Lid., [5% in A
Lid., 20% in B Ltd. and 20% in C Lid. Mwanzia assumes that the manager’s active returns are uncorrelated. Mwanzia
assumes that active return and active risk for PM Ltd. are 0%,

Required:
(i) The portfolio’s total active return. (2 marks)
(i) The portfolio’s total active risk. {2 marks)
(Total: 20 marks)
QUESTION THREE
(a) In the context of execution of porifolio decisions:
(i} Explain the 1erm “implementation shortfall”, {1 mark)
(i) Quiline four advantages of implementation shortfall. {4 marks)
(b) The tollowing sell orders were placed for a stock on Tuesday, 21 November 2017;

Trade quotes during the trading hours of 21 November 2017

Time Bid price (Sh.) Bid size Ask price (Sh.) Ask size

10.00 am 121.00 300 121.60 400

1.00 pm 120.00 300 120.70 400

2.00 pm 118.00 300 118.80 400
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Additional information:
At 10,00 am, the trader placed an order to sell 100 shares. The execution price was Sh.121.10.

L.

2 At 1.00 pm, the trader placed an order to sell 300 shares. The execution price was Sh.120.60.

3. At 2,00 pm, the trader placed an order to selt 600 shares. The average execution price was Sh.117.50.
Required:

(i) Average quoted spread, 12 marks)
(i) Average effective spread. {3 marks)
(iii) Weighted average effective spread. (2 marks)

The board of Trustees of Mambe Ltd.’s Sh.50 million pension fund are meeting to discuss a presentation they recently
received from their pension consultant. The consultant has recommended that they diversify their current 50/50
equity/bond asset allocation to include a 0% allocation to real asset. Although the trustees would like to reduce
portfolio risks without sacrificing a significant amount of return, the trustees have previously been refuctant to change
asset allocation since thev are concerned about “making a mistake we can’t easily fix” if the economic environmemt
changes.

One trusiee, Samson Wako, makes reference to Table 1 below and some notes that provide an overview of how the
various indices are consiructed. Wako states; “To address our stated risk and return objectives and given the superior
historical benefits of direct investing in real estate, represented by the unsmoothed NCREIF index, | recommend that we
reallocate 10% from our bond investments indexed to the Lehman aggregate to a direct real estate asset™.

A second trustee, Samuel Mogaka, responds with a ditferent recommendation: “[ believe we should reallocate 10%e from
the 50% S & P 500 allocation to REITSs to achieve our goals™.

Table | : Real estate performance

Measure NAREIT | NAREIT | NCREIF | NCREIF S&P | Lehman
Index [ndex Index Index 500 Aggregate
hedged unsmoothed Bond index
Annualised return 12.71% 8.96% 6.14% 7.27% £0.94% 7.70%
Annualised standard deviation 12.74% 11.93% 3137% 8.95% 14.65% 3.91%
Sharpe ratio 0.66 0.39 0.55 0.33 045 0.87
Minimum quarterly return —14.19%  ~10.16% | -3.33% -18.55% —-17.28% -287%
Correlation with NAREIT 1.00 0.94 —0.001 021 0.35 0.18
Correlation with NAREIT hedged 0.94 .00 0.00 0.24 0.00 014
Correlation with NCREIF 0.00 0.00 1.00 0.71 0.01 -0.18
Correlation with NCREIF unsmoothed 021 0.24 0.7] 1.00 -0.01 —0.27
Required:
(i) Critique Samson Wako's recommendation with reference to the return, risk, diversification and liquidity
characteristics of the two asset classes that Wako is referring to. {4 marks)
(it) Critique Samuel Mogaka’s recommendation with reference to the return. risk. diversification and liquidity
charactevistics of the two asset classes that Mogaka is referring to. {4 marks)

(Total: 20 marks)

QUESTION FOUR

(a)

(b)

{c}

Discuss five factors that a portfolio manager should consider whiie establishing the band for an asset class under a
percentage-of-portfolic rebalancing program. (5 marks)

Describe three strategic portfolio implications of the bullet structure with an intermediate maturity. (3 marks}

With reference to credit relative-value analysis, examine the following basic approaches used in global credit bond
portfolio management:

(i} Top-down approach, (2 marks)

(if) Bottom-up approach. (2 marks)

{iii} Classic relative-value analysis. {2 marks)
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{d) Stephen Tarus is a portfolio manager at a global firm investing in emerging markets. He has collected the tollowing data
regarding equity portfolio and currency data:

Mexican equity portfolio and currency data

Now In one month
Portfolio value in Mexican Pesos (MXN} 20,000,000 21,000,000
British Pound-Mexican Peso spot rate (GBP/MXN) 0.0494 0.0490
British Pound-Mexican Peso futures rate (GBP/MXN} 0.0491 0.0486
British one-year interest rate 5.35%
Mexican one-year interest rate  7.50%
Note: The futures contract has three months to expiration.
Required:
(i} The one-month British Pound return on the unhedged porttolio. (3 marks}
(i) The one-menth British Pound return on the hedged portielio. (3 marks}
(Total: 20 marks)
QUESTION FIVE
(a) Evaluate two advantages of each of the following bond portfolio management strategies:
(i} Pure bond indexing (PBI} strategy. (2 marks)
(ii} Enhanced indexing by matching primary risk factors, 12 marks}
(iii) Enhanced indexing by small risk factor mismaiches. (2 marks}
(iv) Active management by larger risk factor mismatches. (2 marks)
(v) Full-blown active management. {2 marks)
(b) Phillip Kyalo is evaluating several alternatives for the United States (US) equity portfolio of his company’s pension
plan, involving the following managers:
Active Active risk (with respect to Normal
Manager return (%) normal benchmark (%) benchmark
[ndex 0 0 Russell 3000

|.5 Russell 3000

5 Russell 1000 Value

6 Russell 1600 Growth

6 Cash with Russell 1000 overlay

Semiactive

Active manager A (Value)
Active manager B (Growih)
Long-short

(=2 PP

Active manager A’s misfit risk is 7.13%. The overall equity portfolio benchmark is Russell 3000,
Assume that the active returns are uncorrelaled.

Reguired:

(i Kyalo has taken the information in the table above and used a mean-variance optimiser to create an
implementation efficient frontier. The highest risk point on the efficient frontier is a 100% allocation 1o the
long-short manager with a 100% Russell 1000 overlay. The active risk ot this portfolio is 6.1%.

Explain why the risk is greater than 6%. (2 marks)

Calculate the total active risk for Active manager A. (L mark)

Kyalo’s current equity manager allocation is 30% index and 70% semiactive.

Calculate this portfolio’s current expected active return, active risk, and information ratio. (3 marks)
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(iv) After determining the desired level of active risk, Kyalo selected the appropriate portfolio from the efficient
frontier. The portfolio allocates 39% to the index manager, 34% to the semiactive manager, 7% to active
manager A, 8% to active manager B, and 12% to the long-short manager. This portfolio has an expected acuive
return of 1.59% and an expected active risk of 1.10%,

Explain whether this portfolio represents an improvement over the current allocation, and if so, by how much.

{2 marks)
v) Upon further investigation of Jong-short manager, Kyalo learns that approximately 20% of the active return |
generated comes from equity positions in non-US companies. i
Giving reasons, explain whether this is a concern. (2 marks}) ¥

(Total: 20 marks)
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KASNEB

CIFA PART III SECTION 6

ADVANCED PORTFOLIO MANAGEMENT

THURSDAY: 25 May 2017. Time Alivwed: 3 hours,

Answer ALL questions. Marks allocated 1o each question are shown at the end of the guestion. Show ALL your workings.

QUESTION ONE

1al

(b)

{c)

(d)

In relation to options trading, describe the following risk management strategies:

(i} Bull spread. (1 mark)
(ii) Bear spread. {1 mark)
{iii) Butterflv spread. {1 mark)

Kefa Omanga is a portfolio manager for Hisa domestic equity portfolio. Kefa intends to compare the return
performance of the following portfolio rebalancing strategies:

1. A constant-mix strategy allocated 90% to domestic equities and 10% to risk-free securities.
2, A constant-proportion portfolie insurance (CPP1) strategy with a floor value of 10% of the current market
value of the domestic equity portfolio.

Hisa’s forecast for the domestic equity market is for flat returns in the long term with periods of significant market
volatility.

Required:
Compare the expected pertormance of the constant-mix and CPPI strategies assuming Hisa's forecast proves correct.
(4 marks)

Cecilia Ogalo and Alberto Magala are discussing how to evaluate a hedge fund manager. Cectlia Ogalo suggests that
the hedge fund performance should be evaluated by comparing the manager’s performance with the median of a
universe of hedge funds with similar mandates.

Required:
Citing three reasons, explain why Cecilia Ogalo’s suggestion for evaluating hedge fund manager performance is
inappropriate. (3 marks)

Jackson Omondi, an investment analyst, is currently managing a portfolio with a 65 percent allocation in stocks and
35 percent in bonds. The market value of the portfolic is Sh.200 million.

Additional information:
The stock has a beia of 1.15.

l.
2. The modified duration of the bond is 6.75.
3. Jackson Omondi intends to increase the stock allocation to 85 percent and decrease the bond allocation to
15 percent for a period of six months,
4. Jackson Omondi also contemplates to increase the beta on the stock position from 1.15 to 1.20 and increase
the modified duration of the bonds 10 ¥.25.
5. A stock index futures contract that expires in six months is priced at $h.157,500 and has a beta of 0.95.
6. A bond futures contract that is expected to expire in six months is priced at Sh.109,000 and has an implied
modified duration of 5,25,
7. The stock futures contract has a muitiplier of one,
Required:
(i} The number of stock futures contracts and the number of bond futures contracts that Jackson Omondi should
trade in order to synthetically take the desired position in stock and bonds today. (9 marks)
(ii) Determine whether Jackson Omondi should go short or long based on your answer in (d) (i) above. (I mark}
’ (Total: 20 marks)
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QUESTION TWO

(a)

)

©

| i) Slippage ws.ts

A(iiy.  Market impact costs.

Explam the fo!lowam, |mp||cn costs in relatlon tcu secunnes tradmg

. (2 rrks)
{2 marks)
{iti) Missed trade dﬁpértu'nzi.ty costs. . {2 marks)

Simop. Murumba, a portfolio manager r¢sponsible for a global governmeat bond has been disappointed with the low
retutns on the current bond portfolio consisting of government bonds relative {o the benchmark, which is a diversified
global bond index. He is therefore exploring general strategies to generate excess returns on the portfolio. He has
already researched on two strategies (duratlon management strategv and investing in market 0u!s:de the benchmark

index). .

Required:
Explain three other strategies, excluding the two mentioned above, that Simon Murumba could usc to generate excess
returns on the current bond porifolio, (6 marks)

Anthony Munyao is evaluating the performance of several asset management firms. A global firm states that its
objective’is to be a regional specialist in security selection and market allocation. The firm indicates that it sceks to
outperform the MSCI Far East Index (MSCI - FEI), an index that captures large and mid-cap representation across
three developed markets by: :

1. ldentifving substantial investment opportunities in under-vaiued and under-researched securities within the
index’s country components. '

2 Overweighting’underweighting country versus the MSCI - FEL

3. The global firm further states that it does not practice active currency management as part ot its investment

strategy.
The recent performance of the firm's growth equity composite is summarised below:

Globul firm growth equity composite

Rate of return in

Country Country " Rate of return in Currency " MSCI-FE] rate of return
component weights (%) base currency (%) local currency (%)  contribution (%)  ia local currency (%)
A 30 ~4.70 -8.70 4.00 - £.00
B 43 10.40 2.40 B.00 4.00
C 25 15.60 15.60 0.00 7.50
Composite 100 o7 2.37 480 ' 128
MSCI Far East index (MSCI - FED) .
Country Country Rate of return in Rate of return in {;‘urrenc'\'
compunent weights (%) buse currency (%) focal currency (%) contributien {%)
A 30 - 4.00 -B00 _ 400
B 35 - 12.G0 4.00 8.00
C 15 IR 7.50 0.00
Composite 104 6.53 0.93 ’ .60

Note: The couniry components of the composite have average risk relative to their respective country indexes.

Anthony Munyao has evaluated the contribution of market allocation to the total return of the global firm growth
equity composite. He wants to further cvaluate the performance of the composite, especially with respect to the global
firm’s statements about security selection and active currency management,
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Required: . . : Coele
(i} Determine the performance of the global firm™s growth equity composite relative to the MSCI-FEI in teras

of base currency and local currency. (2 roavks)
(ii) Evaluate whether the contribution of security selection to the total retirn of the global firm's growth equity
composite is consistent with the global firm’s stated objective regarding security selection. (3 marks}
(iii) Determine whether the contribution of currency movements 1o the total return of the global firm's growth
-equity composite is consistent with the global firm’s statement about active cirrency management. (3 marks}
C C ) (Total: 20 marks)
QUESTION THREE :
(a) In the context of portfolio management, distinguish between “performance measurement” and “performance
evaluation', (2 marks)
(b) Describe the following portfolio performance measures:
(i) Total rate of return. : {1 mark)
(i) Time-weighted rate of return. ' _ {1 mark)
(iii) Money-weighted rate of return. \ {1 mark)
i) Linked internal rate of return (LIRR). (! mark)
() Joseph Mvurya is a portfolic manager for a global hedge fund which focuses on precious metals. fixed income
securities and derivatives. He has a straiegy of rofling forward a long position in short dated platinem futures traded
on New York Merchantile Exchange (NYMEX). Joseph’s expectations are as follows:
k. Electricity supply disruptions in South Africa, the world's dominant platinum producer will cause platinum
supply to fall and spot prices to rise.
2. Interest rates will rise,
3. The conventence yield on platinum will increase.
Joseph Mvurya observes that his expectations are not vet reflected in the platinum futures prices.
Required: .
Assuming that Joseph Mvurya’s market expectations are correct, explain the expected change on the following retum
components:
(i) Spot return (price return). (2 marks)
(ii} Collateral return (coliateral yield). (2 marks)
(iti) Roll retum {roll vield). : (2 marks)
{d) Wananchi Bank has been tasked to finance the construction of a tocal hospital expansion. The cash flow requirements

for the hospital expansion are Sh.20 million in 6 months and an additional Sh.40 million in one year. Wananchi Bank
is offering to lend at a floating rate of 90-day Treasury bill plus 50 basis points reset after every six months with a
maximum allowable increase of 300 basis points over the initial tending rate for the life of the foan. The entire
principal of the Sh.60¢ million loan is to be repaid at the end of S vears from today.

Wananchi Bank reviews its interest rate forecasts and decides to fund the hospital loan by issuing a 5-year fixed rate
certificate of deposit (CD) when the cash flows will be required. The CD cannot be withdrawn prior to maturity. After
six months, Wananchi Bank issues a 5-year fixed rate CD for Sh.20 million to fund the first drawdown, Later, afier
another six months, Wananchi Bank issues a S-year fixed rate CD for Sh.40 million to fund the second drawdown.
Afier the second issue, the market value of the assets related to the hospital transactions is Sh.60 mitlion. There is an
economic surplus of Sh.4 milifon related 1o the hospital transactions.

Immediately atter the second drawdown, the assels and liabilities of Wananchi Bank related to the hospital
transactions have the following characteristics:

Assets (loans) - Liabilities (CD)
Modified duration ' 0.50 4.00 :
Weighted average maturity (years) 4.00 4.83
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Required:

. (i) = The present value of the liabilities funding the hospital {oan immediately after the second drawdown.
: {3 mans)
(i) The change in economic surplus assuming that interest rates increase by 50 basis points for both as:cts and
liabilities. ' {5 marks)

(Tota!l: 20 marks)

QUESTION FOUR

fa}-

(b)

(c)

"A portfolio manager responsible for monitoring a client’s portfolio has been tasked to monitor the market and
‘economic changes.

Required:
Discuss three areas of market and economic changes that the portfolio manager should monitor in his assignment.

(3 marks)
Silvia Chessetto, an investment analyst, is advising an endowment fund on adding non-domestic assets to its portfolio.
The asset allocation of the fund is 60% domestic equities and 40% domestic fixed income. The current portfolio has
an expected return of 6.25% with a standard deviation of 9.5%. Silvia is evaluating two new asset classes that might
provide a mean-variance improvement for the endowment fund, Silvia provides the endowment trustees with the data
shown below:

Asset class expectations

Asset class Expected Standard Correlation with the
return {%) deviation (%) current portfolio

Non-domestic developed market equity 8.0 14.0 .70

Emerging market equity EAL 8.0 - 050

The risk-free rate is 2.0%.

_ The correlations provided above reflect normal market conditions.

Silvia believes that the use of conditional return correlations is valuable in stress testing.

Requiresd:

0] Determine if adding non-domestic developed market equity would provide a mean-variance improvement for
the current portfolio. ' (2 marks)

(i) Citing two reasons, justify Silvia's belief that the use of conditional return correlations is valuable in stress
testing. : ' (2 marks)

Patrick Mezo is reviewing the performance of the global equity managers of a focal university endowment fund.
AIK Capital is currently the endowment fund's large capitalisation global equity manager. Performance data for
ALK Capital is shown below:

AIK Capital performance data (2005-2016)

Average annual rate of return 22.1%
Standard deviation of annual rate of return 16.8%
Beta 1.2

Patrick Mezo also presents the endowment investment committee with performance information for Exodus Asset
Management which is another large capitalisation firm. Performance data for Exodus Asset Management is shown
below:

Exodus Asset Management performance data (2005-2016)

Average annual rate of return 24.2%
Standard deviation of annual rate of return 20.2%
Beta 0.8

Performance data for the relevant risk free asset and market index are shown below:

Retevant risk-free asset and market index performance data (2005-2016)

Risk free asset: Average annual rate of return 5.0%

Market index:  Average annual rate of return 18.9%

Standard deviation of annual rate of return 13.3%
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(d)

(e)

Required:
Calculate the Sharpe ratio and Treynor’s performance measure for both AIK Capital and Exodus Asse( Minagement.

© {4 marks)
_ Using the information in (c) above. calculate the following components of investment performance for _Exodu; Asset
Management: ) '
(i)' ' Overall performance. (1 mark)
(ii) Risk. . : _ _ (1 mark)
(i) Selectivity. : R (1 mark)
{iv) Diversification. ' ' (1 mark)
(v} Net selectivity, (1 mark)

Using the information in {c} above explain why ditferent rankms_s of AII\ Capital and Exodu:. Asset Management
could result from using:

(i) The Sharpe ratic versus the Treynor's measure, . {2 marks)

{it) Overall performance versus net selectivity. - {2 marks}
{Total: 20 marks)

QUESTION FIVE

{a)

(b)

(c)

Explain four reasons why a fixed income dealer might prefer to lradc his bond portfolio in a secondary market.
(4 marks)

A portfolio manager decided to purchase corporate bonds with a market value of Sh.5 million. To finance 60 percent
of the purchase, the portfolio manager entered into a 30-day repurchase agreement (repo) with a bond dealer. The
30-day term repe rate was 4.6 percent per annum. At the end of 30 days, the bonds purchased by the porttolio
manager had increased in value by 0.5 percent and the portfolio manager decided to sell the bonds. No coupons were
received during the 30-day period,

Required:

{i) Compute the 30-day rate of return vn the equity and borrowed components of the portfolio. i3 marks)

(ii) Calculate the 30-day porttolio rate of return. {2 marks)

(iii) Compute the 30-day portfolio rate of return, if the increase in value of the bonds was 0.3 percent instead of
0.5 percent, (2 marks)

Mark Mutiso works for a global investment firm. His client wishes to capture excess equity returns from small
capitalisation United States (US) stocks while simultaneously establishing exposure to the large capitalisation US
equity market. Mark has determined that the Rusell 2000 index and the standard and poor (8§ & P 500) index are the
appropriate small capitalisation and large capitalisation benchmarks respectively. Mark proposes the following two
strategies:

Strategy one:

. Hire an equity manager who has consistently outperformed the Rusell 2600 index.

. Buy the same doflar amount of Rusell 2000 futures exposure.

. Sell short the same dollar amount of $ & P 500 index futures exposure,

Strategy two:

. Hire a market neutral {long/short) small capitalisation manager.

. Buy the same dollar amount of $ & P 500 index futures exposure.

Required:

Explain whether each of the above strategies would achieve the client’s objectives. (4 marks)
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(d)

Clement Kivuti-is a portfolio manager at PM Hedge Fund (PMHF). PMHF holds a four-year Sh.120 million, 6% fixed
rate bond that pays interest semi-annually. Clement expects four-year interest rates to rise. He intends to reduce the
duration of the bond position. An analyst at PMHF suggests that Clement can reduce the modified duration ot shis
position which is currently '3, fo a more acceptable duration of 0.3 by using an interést raie swap. Clement extimates
the notional principal on the swap to be as close as possible 1o the Sh.120 million principal of the original boad.

The analvst provides Clement with the following four possible swaps:

Available swap po-sition.

Swap Type of swap

b Pay fixed, receive floating

2 Pay floating, receive fixed
3 Pay tixed, receive floating
4 Pay floating, receive fixed

Term of the swap
2 vears
4 years
4 years

2 years

Frequency of pavment

. Semi-annually

Quarterly
Quarterly

Semi-annually

Assume that the modified duration of the fixed-rate component of a swap is 75% of its maturity.

Required:

.- Advise Clement Kivuti on the swap that meets the stated goals,

(5 marks)
(Total: 20 marks)

.................................................................................
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KASNEB

CIFA PART III SECTION 6

ADVANCED PORTFOLIO MANAGEMENT

THURSDAY: 24 November 2016. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
{a) Enumerate three roles that could be played by brokers and dealers when executing portfolio decisions in the financial
market. (3 marks)
{b) Financial markets are organised to provide liquidity, transparency, and assurance of completion, so that they might be
Jjudged by the degree to which they have these qualities in practice.
Required:
In the context of the above statement:
(i) Examine three characteristics of a liquid market. {3 marks)
(ii} Discuss two factors that could contribute to market illiquidity. (2 marks)
(<) Jambelee Ltd. is a listed company on MSE, a local securities exchange in your country. On Monday, 10 November
2016 at 11.42 am. James Munene, a trader. sold 150 shares of Jambolee Ltd. at a price of Sh.813.30 per share. The
table below encompasses all trades for Jambolee Ltd.’s share for that day:
Time Trade price (Sh.)  Volume of shares traded
8.30 AM 807.30 450
8.43 AM 808.08 300
11.28 AM 815.42 9200
11.42 AM 813.30 150
11.58 AM 815.16 450
12.58 PM 818.76 750
2.59 PM 809.01 450
James Munene is evaluating the implicit costs of the trade, putting his main focus on the bid-ask spread and market
impact using specified price benchmarks.
Required:
The estimated implicit transaction costs using each of the following price benchmarks:
{i) Opening price. (2 marks)
(ii} Closing price. {2 marks)
(iii) Volume-weighted average price (VWAP). {5 marks)
) Assume that the spread between a Ugandan bond and a Tanzanian bond is 300 basis points. This spread provides
Tanzanian investors who purchase Ugandan bonds with an additional yield income of 75 basis points per quarter. The
duration of the Tanzanian bonds is 8.3,
Required:
Determine the decline in the interest rate that would be needed to completely wipe out the quarterly yield advantage
for the Tanzanian investor assuming that the Tanzanian interest rate declines. (3 marks)
(Total: 20 marks)
QUESTION TWO
(a) In the context of portfolio management, discuss the following portfolio rebalancing strategies:
(i) Calender rebalancing,. (2 marks)
{ii) Percentage-of-portfolio rebalancing. (2 marks)
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(b) Julius Poipoi, a self employed person who receives his income irregularly, has an investment account with Centrni
Investment Firm. On 1 June 2016, he had a balance of Sh.}150.000 in his account. On 13 June 2016, he depcsited
8h.4,500 into his account. Further to that, on 20 June 2016, he deposited 5h.3,750.

His account was valued at Sh.157,500 and Sh.162,000 after the first and second contribution respectively. At the end
of June 2016, his account was valued at Sh.165,000.

Required:

The time-weighted rate of return for the investment, {4 marks)

(©) Andrew Koech, a portfolio manager with Smith Capital, wishes to increase the beta tor one of the ponfolios he
manages from 0.9405 to 1.188 for a three-month period. The current market value of the portfolio under consideration
is Sh.173,250,000. Smith Capital contemplates to use a futures contract priced at Sh.104,732.10 so as to adjust the
portfolio beta. The beta of the futures contract is 0.9702.

Required:

(i) The number of futures contracts that should be bought or sold to achieve an increase in the portfolio beta of
1.188. (2 marks)

(i) The' value of the overall position and the effective beta of the portfolio assuming that the overall equity
market goes up by 5.445% at the end of three months. while the stock portfolio under management also rises
by 5.049% and that the futures contract is priced at Sh.110,385. (4 marks)

{d) vy Kigen is considering an investment in distressed debt. She uses a 3-year horizon for evaluating the investment, lvy
Kigen analyses Jumia Capital, a newly distressed debt hedge fund and notes the following:

l. The annual management fee based on average net asset value (NAV)is 1%,

2. The performance fee paid monthly and calculated based on the monthly charge in NAV, subject to a high
water mark provision is 15%.

3. The lock up period is 3 years.

4, 14% of NAV is invested in a distressed airline company that recently filed for bankruptey protection,

5 Net asset value per unit at the end of May 2016 was a new all time high of Sh.3,100.

Jumia Capital’s subsequent month end NAV per unit was Sh.3,260 in June 2016, $h.2,900 in July 2016 and Sh.3,140

in August 2016. There were no interim cash flows from clients during this three-month period.

vy Kigen learns of a competing distressed debt hedge fund with a similar performance fee and expected retum, but

only 1-year lock up period. She contacts Jumia Capital and states that she is considering investing in the competitor’s

fund. A representative for Jumia Capital replies that its 3-vear lock up period is likely to be more favourable to Ivy

Kigen than the competitors 1-year lock up period.

Required:

(i) The performance fee (in Sh. per unit) for the three months from June 2016 to Auvgust 2016. {2 marks}

(ii} Explain why Jumia Capital is subject to I-factor risk. (2 marks)

(iii) Support the representative’s reply about Jumia Capital’s lock-up period. (2 marks)

(Total: 20 marks)

QUESTION THREE

(a) Explain three reasons why an investor would consider investing in an indexed portfolio. (3 marks)

(b) Examine three approaches that an investment analyst could use to hedge against currency risk. (3 marks)

(c) An investor decides to pursue a contingent immunisation strategy over a 3-year time horizon. The investor has $h.20

million to invest, The available 3-year immunisation rate is 4% and the investor will accept a minimum safety net
return of 3.2%.

Required:
The initial surplus amount for the investor. (3 marks})
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(e)

N

George Orengo is an investment analyst at an asset management firm, Each year, he provides his firm with a report
that includes a series of market forecasts. As part of his report, he uses the Grinold-Kroner model to forecadt the
expected rate of return on equities for the next 10 years. He uses the data below to prepare his forecast:

Factor 10-year forecast (annualised) (%)

¢ Dividend yield 1.80

¢ Dividend growth rate 4.00

¢  Change in price to earnings (P/E) multiple 0.50

¢ Inflation rate 1.20

*  Change in the number of shares outstanding -0.30

»  Real total earnings growth rate 2.50

Required:

Using Grinold-Kroner model, calculate the following sources of return for equities:

(i) Expected nominal earnings growth return, (1 mark)
(ii) Expected repricing return, ¢! mark)
(iii} Expected income return. {1 mark}

Simon Mbatia, a fixed income portfolio manager, manages a domestic bond fund. He is contemplating whether to
purchase a 5-year callable, BBB rated corporate bond for the fund. The corporate bond’s current vield is 4.90%.
Simon Mbatia intends 1o use the risk-premium approach to decide on whether to purchase the bond for the fund. The
trailing t2-month inflation rate is 1.10% and it is expected to remain constant at 1.50% per annum for the next five
years. It is assumed that the illiquidity discount and tax premium are both zero.

The following information relates to the domestic bond market data:

1. Real risk-free interest rate is 1.30%

2. 1-year BBB rated credit risk spread (Over Treasuries) is 30 basis points.
3. S-year BBB rated credit risk spread (Over Treasuries) is 80 basis points.
4, Spread of 5-year Treasury over {-year Treasury is 100 basis points.

5. l-year call risk spread is 20 basis points.

6. S-year call risk spread is 60 basis points.

Required:

Based on the risk-premium approach, advise whether Simon Mbatia should purchase the corporate bond. (4 marks)

Anthony Wekesa, a fixed income pontfolio manager intends to add another bond 1o his portfolio. He uses mean-
reversion analysis to determine the bond to purchase among the three bonds identified below:

Credit spread and standard deviation in basis peints {bps)

Bond Current Spread Historical mean spread Standard deviation of spread
A 360 210 50
B 320 230 30
C 340 240 40

The three bonds proposed above have similar durations, their credit spreads are normally distributed, and no structural
changes are expected in the market.

Required:
Advise the portfolio manager on the most appropriate bond o purchase using the mean-reversion analysis approach.
(4 marks)
(Total: 20 marks)

QUESTION FOUR

(a)

Assess how the following behavioural factors could influence asset allocation policy:

(i) Loss aversion, (2 miarks)
{ii} Mental accounting, (2 marks)
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(b)

(©

The following information relates to micro attribution analysis for a portfolio manager:

Sector Portfolio weight Benchmark weight Portfolio return Benchmark returrn
(") (Vo) (%} (%)

Agriculture 21.53 28.70 9.47 4.16

Energy 34.91 45.44 8.21 5.43

Financial 3135 11.79 6.82 4.98

Technology 12.21 14.07 —9.02 -1.71

Total portfolio 100.00 100.00 5.94 4.01

The manager’s objective is to outperform the benchmark through superior security selection.

Required:

Calculate each of the following returns for the portfolio manager:

(i) Pure-sector allocation return for the financial sector. (2 marks}
(ii) Within-sector selection return for the technology sector. (2 marks)

Anderson Mwadima is the portfolio manager for the Sh.200 million Natural Industries defined benefit pension fund.
He is planning to make a presentation to the trustees of the pension plan. His firm has come up with long term capital
market expectations as shown below:

Asset class Expected return  Expected standard deviation Correlations

(%) (%) 1 2 3 4 5
Domestic equity 12.00 16.00 1.00
Domestic bonds 8.25 6.50 032 1.00
International equity 14.00 18.00 046 022 .00
International bonds 9.25 12.25 0.23 056 032 1.00
Alternative investments 11.50 21.00 025 0.11 0.08 006 1.00

Using the capital market expectations, the pontfolio manager identifies an efficient frontier with six corner porttolios
with the characteristics shown below;

Expected Asset class weights

Corner  Expected standard Sharpe Domestic Domestic Intermational International Alternative
portfolio  veturn deviation ratio equity bonds equity bonds investments

(%) (%) (%o} (7o) (%) (%) ()

l 14.00 18.00 .639 4.00 0.00 100.00 0.00 0.00

2 13.66 16.03 0.696 0.00 0.00 85.36 0.00 14.64

3 13.02 13.58 0.775 21.69 0.00 56.56 0.00 21.75

4 12.79 13.00 0.792 21.48 0.00 52.01 5.24 2127

5 10.54 514 0.988 240 51.30 26,55 0.00 12.76

6 $.70 6.32 0.981 0.00 89.65 4.67 0.00 5.68

Additional information:
. The trustees have established a spending rate of 8.50%. Inflation is expected to be 2% per annum and the cost

of managing the fund is expected to be 0.40%. The trustees would like to preserve the purchasing power of
the fund and are concerned with multi period compounding issues.

2. The majority of plan participants are young, theretore additional {iquidity needs are minimal.

3. The trustees would like to limit risk as defined by standard deviation to not more than 10% per year,
Required:

(i) The fund’s required rate of relurn. {2 marks)
(ii) The appropriate strategic asset allocation for cach asset class. (4 marks)
(iii) The Sharpe ratio of the market and the risk-free rate. (4 marks)
(iv) Advise on whether a risk-free asset should be included as an asset. {2 marks)

{Total: 20 marks)
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QUESTION FIVE

{a)
(b)

(©)

(d)

in relation to equity portfolio management, evaluate five advantages of short-extension strategies. {5 marks)

Anthony Kioko is a small-cap growth manager who invests in domestic equities. He was hired by a pensict fund thai
benchmarks him against a broad domestic market index provided below:

+ Manager’s retum 18.0%

¢  Broad market return 15.0%

*  Normal portfolio return 20.0%

+ Total active risk 5.0%

+  Misfit active risk 3.5%

Required:

(i) The true active risk. {3 marks)
(ii) Determine the manager’s information ratio. (2 marks}

Sukuk is a hedge fund that uses derivatives in its portfolio. A financial analyst is reviewing Sukuk’s credit risk
exposure. The firm’s policy is to use a different counterparty for each derivative holding te limit its credit exposure 1o
any single counterparty. lts current derivative holdings are shown below:

Holding Description Notional principal  Current value
Sh. Sh.
*  Interest rate swap 1-year, quarterly payments; pay floating,

receive fixed 2,000,000 56,000
»  Forward contract 2 years long natural gas 5,000,000 —225,000
s Option 6 months; long call option on domestic

equity index 5,000,000 487,000

All derivatives are traded over the counter {OTC) and are not subject 1o collateral requirements.

Required:
The hedge fund’s total amount at risk of credit loss from its derivatives under its current policy. {4 marks)

Paul Ng'ang’a, a portfolio manager for Arab Energy’s European technology fund is concerned about currency
fluctuations related (o the equity portfolic. The portfolio is valued in United States Dollars (USD} but has exposure to
multiple European currencies, primarily the Euro (EUR).

The portfolio manager formulates the following market expectations for the coming year:

Expected return (in EUR) of the portfolio is 13.2%

Standard deviation {in EUR) of the portfolio is 15%

Expected USD/EUR spot rate in one year is | EUR = 1.2045 USD

Standard deviation of the USD/EUR exchange rate is 5%

Correlation between the USD/EUR exchange rate and the portfolio in (EUR) is -0.07

4 & & 0 @

The market quotes indicated below are available from a currency dealer:

+« USD/EUR spot rate 1.1930
¢ l-year USD/EUR forward rate (bid-offer) 1.2065 — 1.2090

Paul Ng'ang’a is contemplating selling EUR and buying USD using a 1-year forward contract to fully hedge the EUR
currency risk. He will execute the trade if he can achieve the following risk-return objectives:

Objective 1 Increase the portfolio’s expected return (in USD) by at least 25 basis points (bps).
Objective 2: Reduce the portfolio’s expected standard deviation in USD by at least 30 basis points (bps).

Required;
Based on Paul Ng'ang’a’s market expeciations, determine whether he should execute the formal trade with respect to
each of the following risk-return objectives:

(i) Objective 1. (3 marks)

(ii} Objective 2. (3 marks)
(Total: 20 marks)
CF61 Page 5

Out of 5




Present Value of 1 Received at the BEnd of # Periods:
PVIF = 4/(1+ry = (141}~

Periog

"

ra

3%

4%,

5%

6%

™%

8%

9%

10%

2%

L

15%

16%

8%

20%

2%

2% A6Y

B AWk -

28858 n

9961
9803
9704
3810
9515

9327
9235
9143
9053

4963
a8T4
8787
BT0)
8613

8528

B2rr
8195

F798
rd18
ST17
6080

9804
5512
9423
9238
9057

aree
8535
8ice
8203

8043
7685
7730
T5T9
7430

Jis4
T142
JO02
6964
6730

6035
S5
A529
ATS

Aaves
9426
9151
8485
8626

8315
B3
1894
Tasd
T4

J224
J014
6310
BBt
£19

6232
SET4

5703
4537

4776

AV20

22

1637

3615
E:r2 13
6850
8548
a9

7503
1399
.1or
T028
6756

6436
65246
8006
TS
5553

3339
S1a
A5
A48
A564

AR
3083
2083
1407
09

8524
9070
-B638
8227
7835

1462
il
&788
6446
5139

5847
5368
L5303
505
L4810

4384
4363
4155
395Y
37639

2953
234
1420
DBT2
0535

S4
8300
BI%e
Fazi
T4T3

7050
6651
4274
5913
5564

5268
A9T0
4688
4423
A1Tr3

k22
8734
8163
625
7130

A5
44480
4150
.3874
3624

.3aar
3166
2959
2765

A2
A314

0339
0173

9259
8573
ekl ]
J350
K806

£302
5835
3402

A632

42089
A8y
677
3405

3152

2919
2703
2502
mr
2145

1460
0994
0460
o413
00399

9174
BaiT

mn
7084

5963
70
5019
A604
4224

38TE
555
3262

2743

2518
230
2120
1545
A784

N1l
0754
Rexhl
013
0057

9031
6264
RETE]
6830
6209

5645
5132
AGGS
A241
3853

3505
186
2097
2632
2334

2176
A58 1ass
4799 1300
1635

0523
0573
021

1436

0033

5066
4523
Aoas
3608
3220

8329

1912

18
8355
5674

fribs]
2567
2292
246
JAB27

BLx|

61

1037

0508
0334
a7
0035

0011

arr2
1695

E730
b2

5194

4356
3996
3506

073

2697

2368

2076

820

537

1401

4229

1478

0946
.0a23

0128

LiEH]

0156

004

1561
6575
T8
4972

4323
459

2843
2472

2449
i8G9
JAB25
413
4228

8621
7432
B407
5523

4741

A0
L3538
3050
.2630
22687

1954
1683
1452
252
1079

802
0a91
0586
0314

0245
116
0026

0001

B47s
Fe2
6086
5158
AT

704
3138
2660
L2255
A914

4613
13712
1163
0385
0833

0160
oo7e
0013

a4
L6944
5147
4823
.4019

4349
2
2326
1338
A61%

M6
A122

01719

0541

ik}
0313
0261

NeS
0042
0007

184}
A1
ATEl
AT25
2310

2274
e ki
B3B3
L1084
0847

0547
D404
Eixy1
0247

0153
.0150
0118

576 7353
79 sa07
4348 3975

3233 2573
2495 Zta9

4830 1580
4432 1462
0e% oot
0822 0628
0623 0462

0472 0340
0357 0250
D271 84
020% 0135
0§55 Do9s
4118 00m3
D068 0039

0033 00N

0010 0005
0002 G004

" The facter is zero to four decimail places

Present Value of an Annuity of 1 Per Penod for n Periods:

PVIF, =

Hn

%

=t (1%

l

(1

T

TR S
By

1%

%

3%

d%

5%

6%

%

8%

9%

10%,

%

14%

15%

16%

18%

20%

4%

28%

32%

(LR R

SWa~®

i2
13
14
15

16
17
2]
19

25
30
40

60

2.9501
$.9704
2.5410
d.902¢
4.8534

5.7955
6.7282
1.6517
B.3660
94713

10.2676
11,2551
12,1337

13.8651

4N
15.5623
16,3903
172260
13,0456

22.0232
25.8077
32,8347
331961
44 3550

6.9804
1.9445
28839
38077
47135

56014
6.4720
7.3255
a.1622
8.9826

9.7963

09109
1.9435

28288

AT
4.5r97

5.4%72
6.2303
T.0197
1.7861
8,5302

9.2526

10,5753 9.9540

1.4
13.0037 12,1082
12.849)

13.5777
14.201%
14,9920
13.6785
16,3554

19,5235
23565
27,3555
3.4236
34,7609

10,6350
11,2961

0.9615
1.0861
2T
3.6293
44518

52421
£.001
. B.r3zr
74353
a.1109

8.7603
9.3851

$.5956
10.5631

119379 11.11

12.5611 11,65

131661

137535 12.65

14,3230
14.8775

174131

15,6221

19.6004 17.29:

231148
257298

27.6756 22.62

131335
13.5903

23 10.
121657 112744
93 11,
12,
12

14
20 15,
19,7928 171584
21.4822 18,

35 1B

0.9524
1.8594
27222
3.5480
4.3295

5.0757
17884
64632
rA0Te
I2r

9.3064
8.9833
93938
9.8906
B84 10

0.59434
1.8334
2.6730
3.4651
42124

4.91713
5.5824
6.209¢
6.8017
7.36Mm

7.8869
83838
0.8527
9.2950

T M2

378 101058

104773

6896 10,8274
0853 11,4381
4622 11.4899

0939 12.70%4
3725 11,7648

13.0463

2339 157619
9233 16.1644

05045
.8080
2.6243
3972
4.1002

4.7685
3.3893
59713
65152
10236

1.4907
T.a427
8.3577
B.T455
9.1079

9.4466
9.7632
10.0591
10,2356
10,5840

11,6538
12,4630
1337
13.30071
14,0392

0.9259%
t.7e33
23N
M2
.59y

48229
3.2064
5. 7465
6.2469
6.71in

71350
T.5361
7.5028
8.2442
8.559%

9.9514
9.1218
.31
9.6038
9.8181

10.6748
11.2578
11.324¢
122335
12,3766

074
1. 7591
25313
1.2397
3.8897

4.485%
50330
55348
59952
84177

6.8052
7.9607
7.4069
r.1952
8.0607

8.32¢
B.5408
8.7556
B.9501
9.1285

§.8226
102737
10,7574
109617
11.0480

0.5091
1.7355
24969
31699
3.7508

4.3553
4.9684
53349
5.7590
6. 1446

6.4951
6.8137
71004
1.3687
76061

T.B237
B.0216
82014
6.3643
526

9.0770
94269
27791
9.9148
9.9672

D.839z3

1.690
2.404
1037

41514

4.563

49576 4
5.3202 4,
2 &,

5,650

5.93r

11

6467

B 23ane

3 2
3.6049

7 5

6.1944 3

64235

5.6202 6.

6.8109

65740 8,

71156

1.2497 .

Facss s

14694 4.

1B43
00552 I
82438 7.
03045 7T,
£3240 7,

5.

5.

6.

087712 0869
t.6257
22832

9137 285850

34331 33522

38897 37845
a 4

2683 4.1604

8289 44873

%64 476
2961 50183

4527 5.2337
6603 %4206
8424 5,583
0021 57245
1422 S.8474

2651 59542
I 0472
4674 61280

3504 6.9902

E2M  §.2593

BT29  s.dea
Q02T £.5650
1050 6.6418
1327 £.6605
1404 58651

0.8621
1.6052
2.24%9
2.7982
32743

3.6847
4.0386
4.436
4.6065
4.8332

5.0286
EREH
3323
5.4675
3.5755

3.660%
5.7487
sai7e
S.8¥7S
3.9288

8.0971
61772
8.2335
6.2453
62402

0.8475
1.59656
2.4743
2.6301
314272

34976
3.8115
4.077¢
4.3030
4454

4.6560
4.7922
4.9095
3.004
S.0916

5.1624
5.2:23
5.27132
%3162
53.3527

54663
$.5160
1.5482
5.5341
5.5853

1.8331
1.3278
21065
2.5897
2.9%06

33288
6046
18372
40110
4.192%

4.3271
4.4392
43327
46106
46755

4.7296
4.7146
48122
48435
4. 6696

4.3476
49789
4.9966
49995
4.9993

0.2055

14588 -

19913
2.4043
2. 1454

3.020%
3u4n
3412
3.5655
2.8819

37757
38514
39124
39616
4,003

4.0333
4.050
4.0789
4.0567
41103

41474
4.1601
4.1653
4.1666
41667

0.7813
1.3918
1.8684
22410
2.5320

2.7594
2.9370
30758
31842
3.26039

3.3354
3.3868
3.4272
34587
3.4834

3.502¢
15577
315294
3.5286
1.5458

15640
1.5693
15742
35714
15714

07576
13315
1.7663
20957
23452

25342
26775
2.7060
28681
259304

28778
10133
3.0404
30609
30764

30882
09N
31039
31690
Iz

11220
3242
11250
34250
112580



KASNEB

CIFA PART HI SECTION 6

ADVANCED PORTFOLIO MANAGEMENT

THURSDAY: 26 May 2016, Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

(a)

Discuss the following enhanced bond indexing strategies as identified by Kenneth E. Volpert (2000):

(i} Lower cost enhancements, (1 mark)
{ii) Issue selection enhancements. (1 mark)
(iy  Yield curve pusitioning. (1 mark)
(ivy  Sector and quality positioning,. (1 mark)
(v Cafl exposure posttioning. {t mark)
Highlight three assumptions ot classical bond immunisation theory. (3 marks)

The investment committee of RBC Bank Lid."s pension scheme is not pleased with the recent performance of the
fised-ancome portion of their insestment and have tired the fixed-income manager. The investment committee has hired
a consudtant from Alexandria Financial Services {AFS) to assess the portfolio’s risks, submit recommendations to the
committee, and manage the portfolio on its behalf en an interim basis. The current portfolio benchmarked against an
index is shown in Table 1 below:

Table I: RBC Bank Ltd. s pension scheme {ixed-income porttolio information:

Portiolio Index
Sector Yo Duration Ye Duration
Treasury 47.74 5.50 49.67 596
Agencies 14.79 5,80 14,79 S0
Corporates 1235 4.50 16.53 301
Mortgage-backed securities 2512 4.65 19.10 4.65

Note: Spread durations are the same as effective durations tor all sectors with similar spread risk.

The consubtant has noticed that the fired manager’s portfolio did not constitute securities outside of the index universe,
The investmemt committee has requested himt to consider an indexing strategy including related benefits and logical
problems.,

The consultant has identified the undermentioned three factors that had limited the manager’s ability to replicate a bond
index:

Lack ot availability of certain bond issues,
Limited market capitalisation of the bond universe.
Differences between the bond prices used by the manager and the index provider.

fad | —

After conducting lurther analysis of the current treasury securities portion of the portfolio, the consultant discovers that
there was a significant overweight in a S-year wreasury bond {(Sh. 10 million par value). He anticipates the yield curve to
flatten and torecasts a six-month horizon price of the -year treasury bond o be $h.99.50. Therefore, his strategy will
be to setl 3-year treasury bonds and invest the proceeds in | 0-year treasury bonds and cash while maintaining the dollar
duration of the portfolio.
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The Treasury bond information is shown in Table 11 below:

Table I1I: Treasury bond information:

Tenor (Years) Coupon (%) Maturity date Duration Price (Sh.) Yield (%)
S-vear 4.125 15 May 2011 453 10030625 L3
1O-year 5.250 15 May 2016 822 10909375 A1

Note: Prices are shown per Sh. 100 par value.

Required:

(i) The duration ot the RBC Bank Ltd."s pension scheme fixed income purtlolio with relerence 1o the inlornration
givenr in Table I above. {2 marks}

(ii) Using the information given in Table |, compute the spread duration of RBC Bank Ltd. s lixed-income portfolic,

12 marksy

(¢} Based on the data i Table B identity. gis ing an appropriate reasen, the hond portlolio strategy used by the tired
manager. (1 k)

{ivy o relation o the three factors idemifivd by the consultant, describe the factor that i least dikely to limit a
manager’s ability o replicate a bond indea. {1 mark}

() Using the consultant’s torecasted price and the bond information given in Table L caicutate the expected 6-
monih total return ot the 3-year, 3.125%, treasury bond.
{Asswme Zero accrued inerest at purchase).
(2 marks)

tviy  With reference 1o the information given in Table L estimate the par value ot the 10-year bonds to be purchased
ta execute the consultants’ strategy. (4 marks)
(lTotal: 20 marks)

QUESTION TWO

(a)

(b)

In relation to relative vaiae apalysis, evaluaie the wllowing wols used by tined income porttolio managers when
analysing vield spread ievels:

i AMean-reversion analyvsis. 2 miarks
A I 2 marks)

i Duality spread analysis. 2 marks
ti}y  Quality spread snalysis (2 marks)
i or cent vield spread anatysis, 2 nrirhs)
y P vvield spread iy (2 h

Peterson Orengo, a puerttolio manager with Beta Asset Managers (BANM) decided 10 buy corporate bonds with o market
value of Sh.5 million. To finance 60 per cent of this purchase, Peterson entered imo o 30-day repurchise agresnient
(repo} with the bond dealer. The 30-day term repo rate was 4.0 per cent per annum. AL the end of the 30 diys the
bonds purchased by Peterson had increased in vatue by 0.5 per cent and Peterson decided to sell the bonds. No coupons
were received during the 30-day period.

Required:
i The 30-day rate of retarn on the equity ind the borroswed compoenents of the porttolic. {3 marks)
(ii}  The 30-day portelio rate of retarn. (2 murks)

(i) The 30-day portlolio rate of return assuming the increase in value of the bonds was 0.3% instewd of 9.5 %,
al -l
2 marks}

(iv}) Based on the result obtained in (b)) and (bXiii) above. comment on the efTeet of leserage on the portfolio rate
of setum. {2 murks}

{(v) xplain the reason why the bond dealer faces credit risk cxven it he bolds the coltweral, {1 mark}
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Anthony Wanyvagia. an equits portiolio manager, has reviewed the hotdings of the existing large cap pertlolio and has
asked his trader to seld the four sceurities illustrated below:

T'rade order and marhet data

Security  Order size (shares)  Average daily Bid-ask Share price (Sh.)  Urgeneys
volume {shares) Spread complete
. _ . e o Ardes

A [IRRLYH 812000 Wide 13500 RIS

B 48.000 972.000 Narrow 12.50 Low

¢ 3000 77.000) Narrow 9.8 Itigh

H 19,000} 39,000 Narross 7.320 Iligh
Required:
Using the data provided. justits the seeurity for which cach o de following trade execution tactios is sl appropriate:
e Vodume weighted average prive (3 W AP aivorithni, (X mudrhs)
(0 Implememation shorttall algorithm, 2 nurks)

{Total: 200 marks)

QUESTION TIREE

fa)

()

)

Hivhtight theee imitations of holdings-based st le anal s sis compared o returns-hased sty e ammaasgs, 13 ks

Giving tour reasons. justity why some imeestors believe that more price incliicienes could be found on the short side oF
the market than on the Tong side of the market, {4 marhsi

Vincent Ndert is o pension consufant annd is tashed to evaiuvate the foflowing perttolios:

Portolio 11 A highly concentrated porttolio with ive stocks tepresenting 7374 af the total portlofio,

Portfolie 2: A hichls disersiliad porttolio with over 100 stecks, none of which represent more than 1%, of the toiad
portiodio,

3. Portfolio 3: A diversified porttulic of 70 stocks. with the Lop ton namies representing 3%, o the 1otal portfolio,

i
]

The tullewing investment results were recorded e the year 2015

Portlolio 1 Pordfolic 2 Portfolio 3 Market Index
Return (Y o) 420 250 LRI R{IX3!
Standard deviation 1.20 t) . .20 .50
Beta | .80 1.20 (.50 .00

The risk Tewe rate 5 6%,

Required:
For each portiolic, caleuiate and interpret the followine:

1y Treynor measure. 12 mrarks)
(ih Modigtiani-Madigliani (N 7) mcasure, (2 marks)
iy Jenscn measure. {2 marks)

Mike Mutivo, a portlolio manager at Kancom Capital, nude the tollowing tansactions in CMS Limited shares for a

portfelio that he manages:

Day 1: Avmarkel close. CMS Bimited shares are priced al Sh.75.

Day 20 Betore the market opens, e decides to buy 8.000 shares at Sh.74 per share by placing a limit order that would
eapire at the end of the duy. The limit order does not il and the CMS Limited shares close the day at
Sh75.750 Afer the market Closes. the company somounces that it has entered fnto a joint venture which would
eapand its international presence. Mike assumes that this announcement could make the price of the company
move up or down by Shul 00
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Day 30 He piaces @ oew limit order to buy 8.000 shares of CMS Limited at 2 price of Sh.77. As the trading das neais

Lo an end, SO0 shares 1)) at Sh.77 per share plus Sh. 1,500 in commission. CMS Limited shares close al 85,79
that day and the retaining £.000 shares are never purchased.

Required:
The torsl amount of implementation shortlall for COMS Limited s ~hares transactiorn, (3 marks)

I2fmu Foundation has received a SI.20 million giobal gos ermment bond portlohio from a German doner. 1 his bond will
e denominated Iy Shillings and managed separatels from Eliow Foundation™s 1on- =shitling Jenominated  bonds.

e bond portlodio is currently hedged and the Chief Finanee Oflicer of Elimu Fowdaton s considering whether 1o
hedge the curreney risk of the pertivlio,

The bond porttolio’s current allocation and reles ant ceuntey pertormance data are aiven bebow:
Elimu Foundation

Current Alloeation
Global Goserament Bond Portivlio

Country Alleeation () Maturity (vears)
Gicrmany 25 s

A H) 5

i e e

¢ Y] 5

1> 15 10

Country Performance Data
(in local currency)

Country Cash return (%a)  S-year H-year U nhedged
excess bond excess bond  currency
return (%o} retarn (%) return §9% )
Giermany 2.4 [ Y -
A i 26 REY 0
i 4.0 13 1.4 2
¢ 3 Lo 2 -2
h) 2.0 VoA 24 -3
Required:
The eapecied oial amual setam o the current bond portfoliv. {Assme that the Chicl Executive Officer of the
Toundation decides o feave the curseney sisk unhedeed). {4 marks}

(Total: 20 marks)

QUESTION FOUR

fal

i)

Desenibe how inegrating the Blach-Litterman approach imto the asset allocation process would allect the following:
i Spectfication of expected return, (2 marks)
i) Level ofmarket diversification ol the resuiting poatvi, {2 imarks}
James Kiptou, a Portlolio Manager, intends o purchase 3000 shares of EAP Lid.. which had an initial public ofler

(PO recently. Howevers Jamies was not able o get any shares at the 100 price of Sh.30 per share, James would sl
Bhe L purchise the 3000 shares. but net at a price above ShAS per share.

Required:
(i} Giving an appropriate reason. explain whether James should place a nrarket order or 2 limit order. (1 mark)

tiy Ivahuate one advantage and one disady antage o the preferred order in (b)ii) above, (2 nuarks)
Jobnson Makaw. a CH-A gradoate working as a Portiolio Manager with Last Aflvica Finanvial Services (EAFS). expUCts

ln rccci\'u 4 C;l\]l inlhm' ul"ih A0 million in Ihf‘u. mnniha liim Iohnwn inteds o ose futures contracts W tike a Sho17.5
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Additionat information:

Lo The stoek wouldd have @ beta of 115,

200 The bonds would have a modilied duration of 7,63,

300 Astock index Tutores conteaet with o beta o093 is priced at Sk 73210,

4. A bond futures contract with a modiied duration of 3.63 is priced at $h.93,730,
When the Tutures contract expires in three months. stechs and bonds will have declined by 3 4% and 3.00%

bR
respectively.
Required:
(i) “Fhe number of stock and bond futures contracts that Johnson Makat would has ¢ to trade in order to synthetically
take the desived posttion in stocks and bonds todas. {7 marks)

il Show that prefis on e Tutures positions are essentially te swme as the change i the s alue of stocks avd bonds
during the three-month period, £6 marks}
(Total: 2k marks)

QUESTION FIVE

{al

{b)

()

()

Evaluate three practical risk management benetite that might acerue 1 an investment manager who keeps rebalancing
his clients™ portfolios. {3 markst

Discuss [our biases that could wrise in the hedge fund benchimark sefection, 4 marks)

Jumat Shah holds an investment account with Fahali Financial Services (FES) a focal investment firm based in her
countey. lamal makes comributions o hier account based on availabilinn of funds.  Being 2 business person. Jamal
receives menes from her clients on an trregular basis. By 1 lune 2005, her account had Sho100.000, On B June 2015,
Jamal received Sh.3000 and deposited the amount 16 ber account the same dav. On 21 June 2015, she received
Sh.2 300 and wiade another contribugion 1 e account. The vadae of her account alter Uwe 14 June 2015 contribution
was Shoin3 000, and her accoum value alter the 21 June 2015 contribution was Sho108.000, Jamal s account was yatued
at ShuTeoon on 20 June 2045,

Required:

Jamal Shal’s time-weighted rate of retun. {6 marksy
A Japtnese company dssues a corporitie bend with o face salue of Y12 billion and a coupon rate of 3.25 per ¢ent, the
company decides touse assap 1o convert this bond into a curo-denominated bond. The current exchange rate is ¥ 120 €.

The fixed rate on euro-denominmed swaps 15 6 per cent and the (Iaed rate on yen-densminated swaps is 3 per cent.

(Note: Al payments will be made annually . so there is oo adjustment such as Days 3604

Required:

i) Describe the 1erms of the swap and identits the cash Bows at the start. (3 marks)
{iiy  Identify all interest cash flows at cach nterest payment date. (2 marks)
cy  ldentity all principal cash Mows ar the maturity o the bond. (2 marks)

(Fotal: 20 nrarks)

L R I I
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KASNEB

CIFA PART 11 SECTION &
ADVANCED PORTFOLIO MANAGEMENT

THURSDAY: 26 November 2015, Time Alivwed: 3 hours,

Answer ALL questions. Marks allocated to each question are shown at the end of the question, Show ALL your workings.

QUESTION ONE
(a) Discuss five criteria that could assist a portfolic manager in appropriately specifving asset classes. (5 marks}
(b George Onyango is considering a possible six-month. $h.104 million LIBOR based floating-rate bank loan 1o fund an

infrastructure project. However. he fears that there might be a possible rise in the LIBOR rate by December 2013 and
intends to use December 2015 Eurodollar futures contract 10 hedge risk.

The futures contract expires on 20 December 2015, has a Sh.1 million contract size. and a discount yield of 7.3%.
George Onyango will ignore the cash flow implications of marking-to-marker, initial margin requiremenis and any
timing mismatch between exchange traded futures contract cash flows and the interest paymenis due in March 2016,
The terms of the loan are as shown below:;

20 September 20158 20 December 2015 20 March 2016

s  Borrow Sh.J00 million a1 e Pay interesi for the first three » Pay back principal plus
2{ September 2015 LIBOR - imonths interest
200 basis points {bps)

(20 September 2085 LIBOR =7} « Roll loan over at 20 December
2015 LIBOR = 200 bps

Loan initiated First loan payment (9%) Second payment
J. and futures contract expires and principal

L ¢ ®

20/9:2015 2041272005 204372016

Required:

{i) Formulate George Onyange's 20 September 2015 floating-rate to fixed-rate strategy using the Eurodollar
futures contract. (5 marks)

(ii) Show that the strategy in {b) (i) above would result in a tixed rate loan, assuming an increase in the LIBOR
rate to 7.8% by 20 December 2015 which remains at 7.8% through 20 March 2016. (5 marks}

(«©) The market valee of an emerging market-fixed income investment fund is $h.74.9 million. The duration of the

portfolio is 8.165. According to a consulting economist, the prevailing interest rares are likely to have an unexpected
decline vver the next month. Based on this forecasd, the portfolic manager contemplates increasing the duration of the
fund’s entire bond duration 1o 10.11. The futures contract that the fund would use is currently priced at Sh.130.012
and has a duration of 9.356. It is also assumed that the conversion factor for the futures confract is 1.059.

Required: .

(i) Explain whether the fund would need 10 buy or 10 sell the futures contract. Justify your answer. (1 mark)

(i) The approximate number of futures contracts that would be needed w0 change the duration of the band
portfolio, (4 marks)

(Total: 20 marks)
QUESTION TWO

(a) Explain the following fixed income portfolio management strategics:
(i) Full replication apgroach. (2 marks)
(i1} Enhanced indexing by matching primary risk factors, {2 marks}
(iii} Enhanced indexing by small risk factor mismatches. (2 marks}
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(b

(<)

(v} Active management by larger risk factor mismatches. (2 vvarks)

{vi Fuil-blown active management. 12 marks)
Evaiuate three components of return for commadities futures contracts. (6 marks)

Justine Kangonge is a senior portfolie manager advising international clients. On 1 Sepiember 2(HS. one of
Kangongo's clients. an American. bought a Canadian oil company for [ million CAD (Canadian dollars) and sold
Canadian sicck index futures (December maturity} for the same amount o hedge the Canadian stock market risk. The
stock index futures contract has a muitiplier of CAD 25. The current stock index futures price is CAD 2,000. The
client sells 20 contracts. The Canadian dollar drepped trom 1.0 United States dollars {USD) on 1 September 2045 to
D90 USD o | October 2015, During the same period. the stock index and stock index futures dropped by 0% in
CAD, while the portfolic only loses by 7% in CAD.

Required:
The profit or loss of this alpha strategy in USD given that the client does not engage in currency hedging. (4 marks)
(Total: 20 marks)

QUESTION THREE

{at

ibi

(c)

ti) In refation 1¢ global credit bond portfolio management, explain the term “refative value™, {2 marks}
e Describe three strategic portfolio implications of the bullet structure with an immediate maturigy, {6 marks)

A pertfolio manager is evaluating two new assel classes that might provide 2 mean-vanance improvement tor his
porttolio. He gathers the following data:

Asset class expectations

Asset class Expected Standard Correiation with the
return deviation current portfolio

Neon-domestic developed market equity 8.0% 14.t1% 70,70

Emerging market equity 9.0% i18.0% .50

Additional information:

1 The risk free rate is 2.0%.

Z. The current portfolic consists of 60% domestic equities and 10% domestic {ixed-income securities.
2 The current portfolio has an expected return of 6.25% and a standard deviation of 9.5%.

Required:
Using Sharpe ratio. determine whether an addition of non-domestic developed market equity would provide a mean-
variance improvement to the current portfolio. {3 marks)

Charles Keter presented the following performance result. The manager invests in a smatl number of sectors within a
broad equity universe. The objective of the manager is to outperform a custom benchmark:

Performance results

weight (%) Return %

Industry sector Portfolio  Custom benchmark  Porifolio  Custom benchmark
Agricultural 21.30 21.90 1.55 4.9G
Banking 36.00 34.80 3.00 310
Investment 19,20 20.50 390 3.30
Telecommunication and technology  23.50 22.40 .30 (.20
Total portfolie 100.00 100.00 3.42 2.30
Required:
() The pure sector allocation for the agricultural sector of the porifolio. {3 marks)
(i) The within-sector allocation {(security selection) return for the investment sector of the portfotio. {3 marks)
(i) The atlocation (selection interaction) return for the banking sector of the portfolio. (3 marks)

(Total: 20 marks)
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QUESTION FOUR

{(m .

{b)

{c!

Examine five limitations of Sharpe ratio as a performance appraisal measure of a hedge fund. (5 marks)

John Kioko. a Chief Investment Officer (CIO) of a large pension fund has prepared the performance attritwtion table
shewn below to assist in evaluation of the performance of the equity real estate portfolio:

Portfolio Portfolio Index Portfolio Index
type allocation allocation returns return

Yo Yo % %o
Office 5% 35 4.47 6.07
Retail 20 25 8.23 7.51
Warehouse 20 15 6.01 7.52
Apartment 5 25 0.76 294
Toral 100 109
Required:
(i Endex returm. ’ (1 mark)
(i), Effects of property selection. (2 marks}
{iii} Effects of market timing. 2 marks}
{iv) Active return. {2 marks)
Vi Effects of active management. {2 marks)

Jack Sitoti. an investment consultant, has collected the following information which he considers appropriate to
compare the performance of two managers; Manager 1 and Manager 2.

Five year performance (annualised)

Performance measure Manager 1 Manager 2

Rate of returm (%) 21.13 2113

Sharpe ratic 1.17 1.21

M- (%) 18.72 19.27

Active risk (%o} 217 4,18

Information ratio 0.52 0.27

Treynor measure (%o} 1915 17.17

Risk-free rate (%) 2.75 275

Required:

Using three risk-adjusted performance measures, explain the causes of the difference in the twe managers’
performance. {6 marks)

{Total: 20 marks}

QUESTION FIVE

(2)

(b)

Evaluate three economically significant differences that distinguish “conventional index mutual funds™ from “indexed
exchange traded funds (ETF)". {6 marks)

Describe the followiny portfolio rebalancing strategies:

(i) Buy-and-hold strategy. (2 marks)
(ii} Censtant-mix strategy. {2 marks)

(iii) Constant-proportion portfolio insurance (CPPI) strategy. (2 marks)
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(c)

As a portfolio manager of Fiduciary Investment Services (F1S). one of your duties is to ensure timely execution of

- trades ordered by the clients.

The following information relates to one of your clients:

1. A client ordered for 1.000 shares of East African Cotton Limited (EACL) to be purchased on Tuesday. with a
benchmark price of Sh.t0 per share.

2. On Tuesday, 600 shares were purchased at a price of $h.10.02 per share. The commissions and fees for this trade
was Sh.20.00. The closing price on that Tuesday was $h.9.99 per share,

3. On Wednesday, 100 more shares were bought at $h.10.08 per share with commissions and fees amounting to
$h.12.00. The closing price was Sh.10.01 per share on that day.

4. The remaining shares were not purchased and the order was cancelled on Thursday at the close of the market.
EACL shares closed at Sh.10.05 per share on Thursday. '

Required:
(i} Implementation shorttal]l for the above trade. _ {4 marks)
(ii) Components of the implementation shortfall for the above trade. 4 marks)

(Total: 20 marks)
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KASNEB

CIFA PART IIE SECTION 6
ADVANCED PORTFOLIO MANAGEMENT

PILOT PAPER

September 2015, Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question,

QUESTION ONE
(a)  Explain how asset allocation policy is influenced by the following:
(i) Loss aversion. a (2 marks)
(i)  Mental accounting. (2 marks)
(iii)  Fear of regret. (2 marks)
(b} A perpetual foundation needs a 5% current distribution, expenses of 0.5% and expected general inflation of 2%.
However, inflation relating to the foundation’s distribution is 3%.
Required:
(i) Additive required rate of return. (2 marks)
(ii)  Compounded required return. (2 marks)
(c)  Suppose an investor requires before-tax return of 8%, has risk aversion score of 7 and she can invest in one of two
portfolio allocations A or B, which meet her required return and risk (standard deviation) objectives. The allocations
are as follows:
. Allocation A (Portfolio A) has an expected return of 8.5% and a standard deviation of 9%.
. Allocation B (Portfolio B) has an expected return of 8.8% and a standard deviation of 10%.
Required;
Determine the investor’s utility in each portfolio allocation and advise the investor on which allocation to choose.
{4 marks)
(d)  Explain the strengths and weaknesses of mean-variance optimisation as an asset allocation approach, (6 marks)
(Total: 20 marks)
QUESTION TWO
(@  Outline three advantages and three disadvantages of enhanced indexing by small risk factor mismatches as a bond
portfolio strategy. (6 marks)
(b)  Regardless of strategy employed, a bond portfolio manager should be judged against benchmark and the benchmark

should match the characteristics of the portfolio,

Describe the following considerations when selecting a benchmark:

(i} Market value risk. (2 marks)
(ii}  Credit risk, {2 marks)
(iii)  Income risk. {2 marks)
(iv)  Liability framework risk. (2 marks)
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(c)  Paul Kite’s portfolio consists of the bonds shown below:
Bond Market value (Sh. ‘000°) Effective duration
1 370 4.5
1§ 420 _ 6.0
I 210 7.8
Portfolio 1000 ?
Required:
(i)  The effective duration of Paul Kite’s portfolic. (2 marks)
(ii)  Interpret the significance of the above measure. (2 marks)
(d)  Aninvestor has Uganda shillings (USh.} 100 million and would like to institute a contingent immunisation strategy over
the next six years. Current rates of return for immunisation sirategies are 100% but the investor is willing to accept an
8.5% rate of return. This active strategy is to purchase KSh.100 million in 8% coupon semi-annually compounded
25-year bonds priced to yield 10%.
Required:
Determine the investor’s cushion spread. (2 marks)
(Total: 20 marks)
QUESTION THREE
{a) Alex Otuoma, a portfolio manager at Beta Capital, has Sh.40 million of funds to invest. He borrows an additional Sh.100

(b)

(c)

(d)

million at 4% per annum in the hope of magnifying the rate of return on the portfolio,

Assume that the manager can invest all the funds at a rate of 4.5% per annum.

Required:
(i) The leveraged rate of return on the portfolio. {2 marks)
(i) The rate of return on each component of the portfolio. (2 marks}

Explain the following approaches to hedging the currency risk in an international bond investment:

(i) The forward hedge. : (3 marks)
(it} The proxy hedge. (3 marks)
(iii) The cross hedge. (3 marks)

A portfolio manager is considering exchanging one bond issue for another that he believes is undervalued:

. The existing bond has a total market value of Sh.11 miltion with a price of Sh.160 and a duration of 8.

. The new bond has a duration of 10 and a price of Sh.180.

Required:

The par value of the new bond necessary to keep the duration of the portfolio constant. {3 marks)

Two managers, Jerry and Tom, follow the stocks in a broad market index and have made independent forecasts. Jerry has
made 400 independent forecasts and has an information co-efficient of 0.05. Tom has made 150 independent forecasts and
has information co-efficient of 0.07.

Required:
(i) Each manager’s information ratio. {2 marks)
(i) The manager with the better performance, (2 marks)

{Total: 20 marks)
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QUESTION FOUR
(a)  Evaluation of portfolio performance heavily relies on benchmarks. Explain any five characteristics which these
benchmarks must possess for them to be relevant. {10 imarks)

(b)  Weru has a 10-year bond in an actively managed portfolio. The bond has a market value of Sh.50 miliion and a
duration of 4.7. The portfolio has a total value of Sh.200 million and a duration of 6.8. The basis point chiange is 100,

Required:
The percentage contribution of the bond’s shilling duration to the portfolio’s shilling duration, {4 marks)

(¢} A portfolio manager must be aware of the risks that relate to market interest rates and the structure of the bonds in the
portfolio.

Describe the following types of risks:

(i) [nterest rate risk. (2 marks)
(ii}y  Contingent claim risk. (2 marks}
(iiiy Cap risk. (2 marks)

(Total: 20 marks)

QUESTION FIVE
{a)  With regard to international fixed income portfolio management, describe any three sources of excess return that a
portfolio manager may use instead of passively overseeing the portfolio. (6 marks)

(b)  Monsura, an investor uses a core-satellite approach to allocate funds amongst equity managers. The equity managers’
active risk, active return and allocations are shown as follows:

Active risk Active return Allocation
Enhanced indexing ) 1.7% 2.5% 45%
Active Manager X 1.9% 3.00% 25%
Active Manager Y 3.3% 5.5% 10%
Active Manager Z 3.9% 7.2% 5%
Passive index 0.00% 0.000% 15%

Assume that the correlation between the managers® active returns is zero.

Required:

(Y  Describe the investor’s core, (2 marks)
(ii}  Determine the investor’s active return. {2 marks)
(iii}  Determine the investor’s active risk. (2 marks)
(iv} Determine the investor’s information ratio. (2 marks)

(c)  Maryanne Ngeno plans to buy crude oil in one month to produce gasoline and heating oil for sale in two months. The
l-month futures price for crude oil is currently selling for $h.18,000. The 2-month futures price for gasoline and
heating oil per barrel are $h.20,000 and Sh.23,000 respectively.

Required:
The 5-3-2 track (commodity) spread. (3 marks)
(d) Kamongo foundation entered into a 2-year credit default swap on a notional principal of Sh.100,000,000 of a 3-year
' bond issued by the matrix corporation. The swap specifies an annual premium of 55 basis points and cash settlement. —
Assume that the matrix corporation defaults at the end of the first year, and the bonds are trading at 60 cents to the
F shilling.
Required: .
Describe the cash flows associated with the credit defauit swap. (3 marks)

(Total: 20 marks)

--------------------------------------------------------------------------------------------------------
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THURSDAY: 28 May 2015,

KASNEB

CSIA PART [l BECTION 5
PORTFOLIO MANAGEMENT &

GPRYTH 20r

Time Allowed: 2 hours.

Answer ALL questions. Marks sllocaied fo each question are shown at the enc of the question, Show ALL yowr workings,

QUESTION ONE

(a) Evaluate the five najor phases of portfolio management process. (10 marks)
L
(D) Peter Mutwiri is considering to invest in 7 share with & stendasd dewiation of returns of (.50 and a corelation
coefficient with the market portfolio returns of 0.6, The risk-free raze is 5% and the standard deviation of the marke
partfolio retums is 0.25. The Shaipe ratio Tor the market portfolio is 9.40.
Required:
The expected return of the parifolio. (4 marks)
(c) A portfolio manager gathers the following economic data relating to country A's economic indicators:
Econgmic - B-year 1-year Provious Current
Indicator average average month - maonth
Unsmployment rate 4.6% 5.3% 37% - 6.0%
Reail sales 12% 2.3% LLRY 1.0%
Required:
Explain the tmpact of the release of the cument month data on the fol owing investments:
(1) S-year government bond. (3 marks)
{ii) Stock market index. : {3 marks}
s 5 {(Total: 20 marks)
QUESTION TWO :
{a) Diescribe five strategies that could be used to overconte psychelogica. biases in relation to hehavioural finance. (5 marks)
by Allan and Susan, 8 couple that hes been mearcied for 45 years, have & portfolio composed of (hree asset elagses which
are spread between equity, bonds and cash. They have not undertaken portfolio rebalancine fately and they have
approuched you for professionai advice, ;
The following table iIiusrra!i::s their asset allocation and return in r2lation w sel benchmark for tie first quarter of
2005 :
Asset plass Actral Actual Benchmark Benchmark
weight . return weight refurn.
(%) (%3 () (%)
Equity 70 20 5] z5
Bonds | 20 Lo 30 1.2
Cash 4] 0.5 10 0.5
Required:
(i) Using suitable computations, explain whether ‘the coupls has over-performed or under-performed the
benchimark for the fi st quarter of 2015, (3 marks)
(ii) The couple’s contribution of security selection to relative performance. (2 marks)
{iii) The couple’s contribution from asset allacalion, (2 marks)
(iv) Comiment on the overall performance of the pertfolio based vn the results ohtained in (¢) (i} fo (iif) ebove
(c) Exami three fag | ¥ soi B 1) . A o L ) (2 marks)
sxamine thae factors that couid be responsible for the recent suree in internazional portfolio investment,” (3 marks)
(d) You are an investor based in the Eurozope and have

. exchange tate was §1.15 per € You bought the stoc

« : Just sold Microsoft shares which you bought six months 1 3.
You had invested 10,000 Euwros (£) to buy Microsoft shares at 120 United States dollars (%) Ec.' share, when tghc

k for $135 per share and converted the feds |
e i onverted the dollar procéeds inta euro
Required:

{1 The return on your investinent'in Euros (€), (2 tarks)
_ (2 mariks)

{1 mark)
{Tetal: 20 marks)

(ii} The profit or loss from this investment in Euros (€),

QUESTION THREE

(&) in relation to equity portfolio management:
(i) Sumrnarise three advantages of returns-based style analysis. {3 marks)
(i1 Describe three disadvantages of holdings-based style analysis. {3 marlks)
(b} Explain the term “tacticai asser allocation™ as used in portfolio managemant, {2 miarks)
(4] An investor holds two stocks, A and B, An analyst prepared ex-ante probability distibution for the possible
economic scenarios, the conditional returns for the fwe stocks and the market index as shown in the mble below:
Economic seenario Prokahility Conditional returns (%)
e A B Market
Growth 040 23 20 18
Stagnation : 0.30 19 15 13
Recession 0.30 -5 -8 -3
The risk free rate during the next year is expected 1o be 11%. i
Required:
Using the 2lpha for each stock, zdvise the investor on whether to liguidate his holdings in stock A and steck B or
malce fresh investments in them, (12 marks)
{Total: 20 marks)
QUESTION FOUR
(a) Discuss three types of benchmarks that could be used in portfllo performance evaluation. (6 marks)
{b) Janet Akinyi is a partfolic manager in country L which has bid to be the host country for a major international sports
tournament. The host country will be anpounced in three weeks time. Janet believes that the share price of Nimo
Ltd., a hotel operating company, will be significantly influenced by the outcame of the bid m host the tozsnament. 11
country L is not selected, she believes that Nimo Lid. share price would risc significantly, I country L is not sclected,
she believes that Nimo Lid’s share price would fall significantly. Janet wants to profit from her beliefs by
implementing a sicaddle, She gathers the information shown below: A
Nimo Ltd. share and option data;
Current share price of Nimo Ltd, ' Sh.£.80 '
Annual risk free rate : 1.50%
Price of one month gall option with an exercise price of $h.5.00 S5h..38 .
Price of one month put option with an exercise price of $1.9.00 5h.0.57 :
Required:
Determine each of the following:
(i) The profit per share_nn'the stradelie if'country L wins the bid and Nimo Lid. shars price doubles. {2 marks)
(1) The price of the two shares of Nimo Lid. at which break-even for the straddle oceurs, ¥ (2 marks)
{e) Using-!he inforination rl'o-vided in [b) above explai ; i T Sl
it : B - explain why sacl: of the following option sintegies is less aanronriat
fhen a siraddle given Jar.et beliefs: . R SRR s et
- | )
(i Bull spread, (2 marks)
45 ) )
{ii] Short butrerfly spread. (2 marks)
(i} Zero costcollar. @ fmarks)
F ooy 3 . : 2 y 3
(d) ,ﬁ}LLfivelsrm jlﬂs nn investment budget nf_SI\j mlll.'t{:n_and infends to borrow an additional Sh.t million 1o invest iy a
risky asset, The risk fn:.e rate 15 7%, the risk premium is 8% and the standard devialion is 22%,
Required: :
The rewnrd-to-volatility ratio of the feveraged portfolio. 4 mirks)
{Totaf: 20 marks)
OUESTION FIVE
@) (h Explain the term “structored portfolio statesy” as usec in porifalio managemen:,

{1 mark)




(B)

()

&%

iy Analyse three types of structured portiolio strategies. | {6 marks)

The following ate two partfolics, A and B, both of which have s market value of S1.500 million:
Portlalio A

Bond Maturity (Years) Marlket value
(Sh, *millicn”)
1 2.9 120
z 3.3 130
3 10.4 85
4 i1 155
P*ortfalio B
Bond Maturity (Years) Marlet value
(Sh. “miltion™)
| 51 - 140
2 i 130
3 49 95
4 53 133
Assume that the above bonds are trading a7 par, and have the same portfolio duration.
Required: t
(i Giving reasons. identify the bultet portfolio and the barsel! portfolio, ; (4 marks)
{b) Explain whether the performance of the two portfolios would be the same if interest rates change. (2 marks)

Polycarp and-Anastasia Kamau, both 32 years old, met and married when they were university students, They each
embarked on promising and highly demanding exceutive careers after eaving college. They are hoping Lo retire at
age 55 to travel and otherwise enjoy the fruits of their hard work, Mow well established ar their companies, they also
want 1o start & family and are expecting the birth of their first child.in‘'two months time. They hope that the child will

follow their tracks and btain a four-year private university education. The couple antieipate supporting their child

through university,

Assume that the couple will each live to the age of 85 years,

Requiréd: - .

(i} Compare and contrast the couple’s Investment time horizons prior to, and immediately subsequent to the
birth of their first child, 4 i {3 marks)

{ii) Interpret the chpl!erigcs-thc birth will present to their retireent objectives. ' (2 marks)

(iii) Discuss approches to meeting the challenges identified in (c) (ii) above, including investing more
) aggressively, o : . (2 marks)
- i " {Total: 20 marks)
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THURSDAY: 4 December 2014,

KASNEB

CSTA PART 1] SECTION 6

PORTFOLIO MANAGEMENT

T:me Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the questmn Show ALL your workings,

QUESTION ONE : )
(a) Evaluate the following primary portfolio rebalancing strategies:
)] .Buy and hold strategy. {2 marks)
{if}) Constant-mix strategy, 2 marks)
(i} - Constant-proportion strategy. (2 marks)
(b) Allam Biko is reviewing the performance of his largest asset, XYZ mutual fynd for the month of October 2014, He
uses the following data to undertake the task:
XYZ Fund Market
Average return (%) N 2 10 .
Betn 1.2 1.0
Standérd deviation {%4) 26 24
The risk-free rate is 4%.
Required: g :
(i) The risk-adjusted performance for the fund and the market using Sharpe, Jensen (aipha), and Treynar
performance measures, (& marks)
(i) Explam whether XY Z mutual fund outperformed the market using the results obtained in (b) (i) above.
X . {2 marks) *
(iii) "Advise Allan Biko on the best risk- -adjusted performance measure to use when wa[uannw the performance of
his portfolio.
(2 marks)
{c) : Le ila Mohamed, a financial analyst at Beta Capital Investment firm is e»a!uatlng two funds; Mega Fund and atead}"
Fund,
- Additional information:
1. The benchmark for both funds is the § & P 500 index.
2. The active factor risk for Mega Fund is 20 and that of Steady Fund is 5,
z 8 The active specific risk for Mega Fund is 30 and that of Steady Fund is 2.
Required;
Compare the lwo styles of portfolic management adopted hy the two funds. (4 maris)
. ) ' . (Total: 20 marks)
QUESTION TWO
(a) Highlight two assumptions used to justify the cxncnswn of domestic capital asset pricing model (CAPMJ to the
international capital asset pricing model | (ICAPM), (2 marks)
AbY Ann Kariuki has collected the following information on her three-asset portfolio invested in Falda Securities

Exchange:

Assets
Wit : ; . P 5 G
Amount invested (Sh,) 40,000 " 25,000 35,000
Expected return (%) r 11 2 25 30

Standard deviation ("'/) - 20 25

hssetC and aqqets (},30
As;erC and asset G 9.10
Sset 8 and asset G 0.50

Required:

(i} The expected return of the portiolio, (2 marks)

?
gl’ .

{ii)  Thestandard deviation of the portfolio.

(c) James and Elizabeth Ndile, a conple, both aged 45 years are meeting with their financial adviser, Michael Foss who is
creating an mvestment polrc_y statement for them. James sold his consulting business at year end and retired. Both
will rely on their investment portfo]lo to meet flttire expenses in excess of James retirement income. Elizabeth is not
emp]oyed
Thcu f‘nanmal delﬂlts include:

Income; i ]
Tames will receive retirement payments of Sh.250,000 per year for his lifetime from the business he sold The
retirement payments are not indexed for future inflation and ere fully taxable as ordinary income.
Expenses:
The couple’s total living expenses for last year were Sh.450,000 and are expected to grow each year at the inflation
rate., The couple does not expect any other significant cash outflows in the future. The tax rate on urd nary income
and all investment returns is 30%, The intlation is expected to be 5% per year.
Assets: A !
The couple awns a morzage-free home valued at Sh.6 million. They have a taxable investment portfolio with a
current market value of Sh.8 million. This portfolio has no previous tax liability due in the coming year. James
received & lumpsim of $h.10 million from the sale of his business, The net proceeds of the sale will be added 10 the
couple’s investment portfolio. Theilr gc:ale are to grow the agset base of the portfolio over time to maintain its after~m
purchasing power and o establish and maintain a cash reserve of $h.500,000,
Required; i :
@) The nomiral aftertax required rate of return for the coming year. {6 marks)
(iiy Citing four reasons, describe the risk tolerance for the couple, (4 marks)
[iti} Determine the eouple’s liquidity requirement for the coming year. (2 marks)
(Total: 20 marks)
QUESTION THREE
(a} Discuss three types of sub-styles of value investing style in relancn Lo equity purtfolioc management. (6 marks)
J' (b) You wotk a5 an investment and securities analyst at Brenham Limited, The portfolio manager provides you wlth
annual rates of return for a portfolio and the relevant benchmark index for the years 2009 wo 2013:
Year Portfolio Return (%) Benchmark Return (%)
2009 12 14
2010 . 14 10
2011 20 12
2012 14 . 16
2013 16 13
Required:
(i The tracking error for the portfolic, {4 marks)
. {if) Apprawe three ways in which the tracking error obtained in (b) (i) above could have arisen, {5 marks)

i{c) After reviewing historical quantitative data with respect to investing in emerging markets and venture capital, an

' investment consullant has recommended a ‘substantial overweighting in bath energing market equities and venture
capital,

Required:

Summarise four potcnual problems that rm,,hr result from overweighting and are common to both emerging markers and

veniure capital, (4 marks)
QUESTION FOUR o —
!{a) Explain the following rerms in re]ntiurl to behavioural finance: ’
6] Self'control bias, (2 m?::s)
(i) Loss aversion bias. (2 ‘S) ;
[610)] Framing bias. (2 marks) :
. () Apollo Investment Advisers (AIA) managss Sh.800 million portfelio composed of $h.600 million worth of shares and

$h.200 miltion worth of bonds. In reaction to anticipated: short term market events, AlA decides to adjust the
The position will be held only until “the right

AlA determines that a financial furures-based asset allocation strategy is
The shares futures index multiplier is 250 and the denomipation of (he bond fumures contract js !

ellocation to 50% shares and 50% bonds throvgh the use of futures.
time to restore the original asset allocation™.
appropriate.
8h.100,000.

Additional information:
1 Bond portfolio modified duration
2. Bond portfolio vield o mameity

r.n

years

"Bfl‘

(4 rm-i_rks] [




3. Basis point value of bond futures "Sh97.8s’
e “Share index futures price 8h.1,378:
5.7 - Share portfolio bera 1.0
‘Required: L i :
(1) _ Exp]am how Apo!lo Investment Advisers (A]A] should mplcment the fi nancmt fu:ures based fsset ':
aliccation. strategy. ) {4 marks) -
- {iiy Determine the nuember of bond f‘.ﬂufeﬁ wntmcts neadcd 0 lmpiemam the AIA asger aIlnuauon stra:egy J
B (2 marks)
JAii) - Determine lhe numbe: of ‘ihares rndex futurcs comracrs naeded 4] tmplemcm the AIA assét allgcation.
' strategy ¢ ey . : o ; (‘7 marks)
(), ~ Explain the term "money welghred ram of rr.:nm" (2 marks) .

i (1'1‘_) M[””‘". N}'ongeaa buought I,SOB shares of‘ OTC Lmurad on I .l'anuary 2012 a pnce of Sh 130 per share. A
- 'dividend of Sh.15 per share was paid on 1 January 2013, The dmtfend was not reinvested, On ] Janvary
2013, he sold 1,000 shares ¢ a price of Sh.143 rer share; On | January 2014, he received a dwrdend of"

. Sh.ig pcr shiare (o1 800 shares) and sold h!s remammg 800 shsres al Sh. 150 per share LxE o

. .Requiu red; .
" The time wc:ghtegi rma o!’ retum on Martin Nyongesa s pnrtfbho

(4 marks)

. (Fotal: 20 marks)”
QuiSTIoNEive - : e - S e
(a __Explam the fni]nwmg termx in relattan ta actm band ponf‘u]m management strategles :
o o)) Barbell strategy, . } 2 marks)
T (il Bullet strategy. 22 ;marks;
-G, Laddered srategy. _ (2 varks)-
: Evaluate three cummon npproa‘,lm Ltscd m 1mp[ement the srra:avlc asset al]ocanon o .(6 marks)' :

EOn i January 2014 John Kel]y an Amencn ) mvesred 1 000 0o Umted Smas do]!ars (USD} b bu 4
i ym shams m
Tﬁkya Siock Exchange (TSE) at 20 000 Japanese yen (¥) per share. i ’ %

The spot exchangb rats onl January 20 14 Wns (¥) IJWUSD and on 30 September 20 14 was {¥) 125 / USD I
The marlcetpnce pcrshsre on Sl}Septembr,riﬂM ws {¥) 25 OGU par share He e

- Thé mral Tetutn onthe i mvestmsnt as at 30 Septcmbe.r ZOM,

e i 1 ] ) (4 marks}
2 fu) Comrnem ‘onthe rclatmnsiup betwcen rhe share | prme and fcmgm exchange rate ba.s_ (e) (:) above,” -
; ;G . i (4 marks)

T‘ORTFOLIO MANAGE MENT {"]'ot;a}- 20 marks)

+ THURSDAY: 29 May 2014, ' Time Aflowed: 3 hours.

Answer ALL questions, Marks allocated to cach question are shown at the end of the question. Show ALL your werlings,

QUESTION ONE ! ]
(a) Evaluate the appmpnan.ness of the fc]]uwmg value i risk i’\’*\RJ melhods in par:ﬁ:l:o managemenr
) Vanancefcovanance metiwd (2 marks} '
(i " Historical method. " (2 marks)
{iii}. ~ Monte Carlo simulation method. i r'narks}
(b} Examine three types of scenaric analysis that an mves:mcm and securlties anal}rst ‘cou Ed use to’ supplement value at
~ rigk {(VAR) in the risk management of a pm?fo[m (6 marks}
o) (i) . Discuss two limitations of risk adjusrr:d performance appraisal methods. {4 marks)

(}i) The information below relates to portfolio A, portfolio B and the market pu.rt.ﬂ:lliu:.

: Market
! Partfolio A (%) P‘n-rtfo]m B{%) P't:rifﬂli:u (%} .
Annualised return (R) 78 8.9 rh il
e Avnualisedpisk{ed .. 55 e o 32 e St e

o

The risk free rate is 2%, -

Required: o :
The Modigllan. 1lsk adjusted performance (M?) for ponfolm Aand portfnhu B. {4 marks)
. {Tatat: 20 marks)
"QUESTION TWO . '
(a) hs a portfolio manager at BKL [nvi:strnent Bank, you intend to mcmda mmmodity firtures in your cherlts portfoim
Required: : ; "
In relation to the above statement, ou:hne five 5pec1ﬁcat|0rts thar are Ilke]y !o be found in a commedity futures
contract. (3 marks)
(b} Discuss the implications of the efficient market hypothesis for an. investment ﬁuiicy as itappliesto:
{i) Technical analysis. . (3 marks)

{ii) Fundamcntal analysis.” (3 marks) .
{c) The investment committee for a children's foundation in Uzurs Chlidren s Home are nrmded by the Toilowing
irvesmment decisions:

1. To keep any active facior risk, expressed as a slandard deviation; at less 'rhan 5% per annum.
2. Tokeep active specific risk at not more than 50% of active risk squared.
i)

To achieve an information ratio of .15 or. more, =
Gideon Mutuky, a portfolio manager for ihe fonndetwn uses 3 risk model Whosé Fesults are summarised helow:

E_ 3 i Risk ana]ysis data s
Faetor incorporated in the risk model Sensitivity ;
; Partfolio Benchmark Factor Variance . |
Log of market capitalisation b.05 0.25 el
E/P, the eamnings yicld ~0.0% 0.05 ' 144
1B/, the baok to price ratio -0.25 002 : % 100
_ | Eumnings growih 0.25 010 . 199
" | Dividend yieid 0.01 T b T
l_DJA, the long-terin: deb (o asset ratio C0.08 ol JJRE L Bl e Siaresh
i jf:u!aﬁ!iry of return on equity (ROE) HZETTTTE T 0 : 121
Velatility of earnings per share (EPS) i -0.14 ' 0.03 i &4

s Active specific risk = 29.9406
‘e Active specific return = =0.5%
v Active retum =0.75%

The factor sensitivities in the mcdel have the stnndard lnlerpretahan of facmr sensitivities in f‘undamentat factor
- models. .

' The active factor risk is given as:
Active factorrisk = (Sensitivity (o the factor) x factor variance

Requxred % ;
"Hiustrate whether the above data is cansrst&nt with: the objactlvec of the investment committee of the r:hlldren g
foundation.

s -—é‘i:mpks)—

@‘T—R‘é TYo 3! "}' (Total: 20 maris)

QLI ESTION THREE

(a_} - Describe three approaches that could be Lised in constructing an indexed portfolio. "+ (6 marks)
B T refation to equity portfolio management: .
(i) . Explain the term “style drift”. (2 marks)
(i) . éuggest wig réasoné that might cause the investors to be concerned aBbini sivle drift. ™ (4 marks)
:{(.:j - T} nes Qf:LIL}I isa P‘I“]) networth client in your investment bank. He is t'.u'n-'.i.‘lcl':'.-zﬁ_“ adding corporate bor:d§ to his

current portfnlio,




- Additional information: =
I. The corporate bonds which James Oduer is considering adding to his pont‘oho have an expected return of 6.5%,

an expected standard deviation of 10.5%, and a predicted correlation coel‘ﬁcler\t of 0.6 with his c__uyenl ;:Kmroim.
2. James Ocuor’s current portfolio has 2 Sharpe ratio of 0. 46. . : o
3. The 182-day treasury bill is currenlly 1rad|ng at3 0% = % o el B E

Required
As the investment bank's senior investment analyst, advise James Oducr on whathf.r to include me corporate bonds imn.

"his curvent portfolio using the Sharpe ratio eriterion.

___[3 marks)

S(d) Davis Kariuki is a Kenyan investar whe is proposing to add Ugandan equities to his portfoiin The expccted retum on
Ugandan equitics is 14% with an expected standard deviation of 23.5% (beth in local curvency). The expected
standard deviation of the Kenya Shilling/Uganda Shilling exchange rats is 6.0 % and the predicted correlation
coefficient between Ugandan equity returns in local currency and exchenge rate movements is 0.2.

Required: : I
The risk of Davis Kariuki's investment in Ugandan Equities measured in Kenya Shillings, o : (5 marks} |
‘ + {Tatal: 20 marks)
QUESTION FOUR
{a) Summarise fn.re assufiptions of Markowitz portiolio theory in relation to an individual’s mvcstmen\ hehaviour.
Y ) {5 marks)
(b} Distinguish between “unique risk™ and “market risk” o used in portfolio management. | (4 ma.rkk}
(el Highlight four app]fcations of the capital asset pricing model {C.APM). ST TR (f:l marks)
(d} Steve Qgada, a ponfnl:o manager with KF'\.I‘JC Investment Bank manages a client’s family investment portfolio; The

portfolie initially consisted of 3h. 46 million of equities and Sh.32 miilion of bonds. As a result of a chenge in the
chcnt s family circumstances, the portfolio is mha'anced usmg the transactions shown below:

_E | Transacti{ms for rcbalancing the purlfolia
Types of futares contracts Action Number of futures | Price per futures . '
fis : ' contract to buy/sell | Contract
; 4 ; (Sh.)
Equity futures contract Buy 1 S 42 e 160,000 -
Bond ﬂﬁl:lrlts contract : Sell ; 35 190,000

Three mentlis after these transactions, the market value of the client's family porifolio’s equities increased by 3.00%
_______ and the market value of its bonds decrezsed by 240%, The prices of the equity and bond futures contracts are
cunemfy valued at Sh. 165,000 and Sh. 185.250 respecmefy

Reqmrcd iy
The pmr tor loss of the client's famﬂy investment porifolio over the past three months. - {7 marks)
' {Total: 20 marks)

QU[“S'IIUJ‘\ FIVE

(a] Discuss three Lypes af risks that could be faced by emerging market debt (EMD} investors. ; . .r3 mérks} .
(b) Tnrelation to bond perfalic management, explain the following terms: o T . :
@ Contingent immunisation, . ) (2 marks)
(if) Ratel anticipation swap. . . 3 E 1 . ﬁ marks)
(&) A secuirities and fnvestment analyst is reviewing varlous: asset aliernatives. He is presented with the following

informatian pertaining fo the broad equity market in East Africa (E.A.) and various industries within the East Afncau
market that are of particular investmenl interest.

Overall  global T
Investment Industry 7o i
market (GIM) -
portfolio : E A. telecommunication | E.A. Consumer products |
Expected risk premium 3.5 3 U 7 )
| Expected standard deviation 85 12.0% 7.5%
Correlation with GIM portfolic S =07 g

The East Afvican market is assumed to be perfectly Integrated with the world market.

Required: i ) 3

The expected risk premium for the fo]lowmg v "

) Ez;.st.Aﬁ'ican telecommunication industry. . (3 matks)

(i) Easr African consumer producrmdush'y ; = ; ' ."i'z-marks:j
'(d.) 2 ieff Motors Pefision Plan (IMPP) is the mmesslona] fund of 2’ local motor cornpany .IMP is fully funded with

Sh.B00 million in asseis am] has the following investment policy ohjectives: ;

Ezm a 10.3% annual portfolio return.
Have @ maximum Roy's safely-first ratio with-a minimum return lhreshcln‘ of S%.

Maintain 2 cash balance sufficient te meet liquidity requirements. | ;
Muaintain a maximum of 10% of asset in a passively managed sub-pmfo]m that :s 'ndcxcd tu S mutor index of the

[m'.al smck market, that is, szock markel mator index (SMMI) T i

e

. .TMPP cxpecrs to pay Sh.32 mal!mn as pension heneﬁt th:s year

At an investment committee mmmg. regarding poss:btc changes to IMPP i8] s’trategu: aHoc.u‘iun pn!:cy, the. cnmmlt{ec
Feviewad five altemative portfolio allocations to meet JIMPP's return uh;emwes ; o, :

The alternatives were as follows:

Asset Class i JMPP Alternafive Portfolio allocations (%)

A B £ D B
Cash equivalents i 3 5 & B [ £
- SMMI R 12 8 Fom L
B Bonds 40 40 ° - 47 45 4} e ey

‘__...,...Equmcsh _________________ By 8 PR e L L Sl oo A .
Tatal J_D_Q 100 100 ;@ J_ﬁ. § 5
Portfolio measures: 5 s 3
Expected tofal annual return 1126 1119 1044 1060 1087
_E;‘xpacted standard deviation 14.90° 1482 1393 " 14,15 - 14.52 - A
-Re::ommend tha most appmpnateponfolw for IMPP. : B T T .51 )

© {Total: 20 marks)
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PORTFOLIO MANAGEMENT CSIAP ART m qgcﬂoﬂ i =

. : ) Where: EMV = Ending market value
THURSDAY: 5§ December 2013. Time Allowved 3 bours, ver s BMYV = Beginning market value
: whiy Mg CF  =(Cash flow
Answer ALL question. Msrk.i allocated h £l h t the end of th tion. S ALL :
questions, o each question are shown at the end of the ques how your: warldngs. Wi = Weight to be applied on cash flow on dnyl
QUESTION ONE CFi =Cash flow on day, ' {2 marks)
(a) (i} Explain the term “portfolio rfo nce attribution® as applied in portfolio management. . 2 marks i :
ki ? pe o o p e ( ) {ii) The August 2013 compesite retum, weighting the individual portfolio returns using a methad that reflects
iy nielation o e Shvestiont policy statement, describe four conbtoaints thet pouid hml.t a pcﬁfoho mansger's both beginning of period values and external cash flows. (€ marks)
decision when evaiuazmg the investors® ability to take full gr p&rlul adyantage of a particular investment. {Total: 20 marks)
- W]ﬂ p LT ; (8 marks)
) A =y g ) QUESTION THREE

{b} Asa f:Oltfﬁhﬂ Mmmga of Investment Salutions Lid., you have deuded to divide lhle market into four ‘pnﬂfullus (a) Discuss the following types ermet anomahes
following two dimensions; Value/Growth and Small/Large. The weight of each portfolic in the market is given. The i
risk free rate is 2%. You have further designed the following model: i i) Fundamental anomalies. (3 marks)
Portfolios ~ Weight Sensitivity fo fuetor I Sensitivity to factor 1L Sensitivity fo factor 11 W EeRalaunma e g

(Market beta) {Price/book} : (Average eapitalisation) (iii) Cn]endar anomalies. (3 marks)
Small value 5% 0.85 08 I e
Small growth 3% 0.95 13 . 1 (b} In relatmn 1o international portfolio management, highlight five factors that have comrrbutcd to institutional investors
Large value 40% 0.50 2 8 treating currency or l.hrexgn exchange rate as & vigble asset class, (5 marks)
Lerge growth  50% 1.1 3 10 O T PR T j
Risk premium = B% 2% e 0.10% (e}, Jomvii Lid. has twa, subsidiaries whn:h are responsible for managing investments for its clients and exporting milk
- ucts. Jomwvu L{d. decides to use interest rate swap to reduce risk on its fixed income investment portfolio of
Required: Sh.1.8 billion in bonds with a modified duration of 6 years. As the company is concerned about rising interest rates, it
(i) Advise the company on which portfelio to select using the arbitrage pricing thear)r (APT‘) < {4 marks) - .. decides to reduce the bond portfolio. modified duration to 3 years using interest rates. The swap has a madified
duration of -2 years for the pay fixed side. Jomva Lid. also wants to borrow Sh 800 million f‘lﬂhs.lim to fund its
(ii) The expected retum of the market using the arbitrage pricing theozy Cormnmt on how the !ttum on the growth. The credit markets in the country have tightened and it would cost 17.70% per annum 15 borrow this amount
market compares with the other four portfolios. (3 marks) ..+ locally, but the firm-can obtain 2 Yen degominated loan at a fixed rate of 9.30% per annum: Fhis would exposs
Jomvu Ltd. to substantial currency risk. A 5 Year Curency swap is available in which Jomvu Ltd. would pay intercst
(iii) ‘The portfolio that would maximise your retun if you decide to use capjta] asset prlcmg madel (CA‘PM) in shillings to the coumezpartyat 12. 20% ami receive interest in ch from the ‘counterparty at 1. IE}% per annbm. The
(3 marks) curment excim:ge rafe.is T 3 !
(Total: 20 mrlg) ¥80/8h.

QUESTION TWO O 31 ' Required:

@) The Managers of Mercury Life Insurance Company are considering hiring & consultant to advise them on portfolio o (i ‘The national prmr.:]p&l required when Jomvu Ltd, enters inte a pay Fxod swap pusrncu to reduog thegdumtlon
immynisation. Differsnt consultants were interviewed and tlisy gave different presemahuns The following five of the bond portfolio to the desired level. ( }
statements were extracted from the consultants” presentations: (i) The net Yen interest expense for each year when Jomvu Ltd, enters Into the Yen-Shilling currency swap for

. §h.800 million. (3 marks]
- pA &%ﬁoﬂ?&rﬁﬂnﬁ?ﬁéﬁﬁ ;b:: !;l;; :ns:tland forget strategy. Thans onee you have ]mmumsed your QUESTION FOUR & _ (Totalk 20 marks)
2. The immunisation target rate of retum is loss than yield to maturity, ; (a) Aosnarno Im\f:xsm'terjt consn;tant your clients are the trustees of a large teachers pension fund that requires vour input or: 2
3 If a portfolio is immunised against a change in the market yield at & given harmm by matchmg portfolio P 0 manitoring and rovision;
duration to horizon, the pertfalio faces no risk except for default risk, Required: ) _
4, The liquidity of securitics used to construct an immunised portfolio is irrelevant. '[[]_ Outline three reasons why portfolio revision is necessary. - o (3 mark)
5. In general, the entire portfolioc does not have to be turned over to raha]arm an ;mmunlsod portfolm (ii) Discuss three greas which should be considered when implementing an investors’ pnrtfniio monitorirg.
Furthermors, rebalancing need not be done on & daily basis, . policy. {6 marks)
Required: ; s W (b)  Theret tock € and i iod of si ; ;
Ciitiqué each St e R A e aments. = L .. . (10 ki) [{] he returns on stock C an market portfolio for a period of six vears are as f_'pl[nws,
. Year Return on stock C (%) T Return on marlket stocl (%)
Lb) The following information refates lo three portfolios; A, B and C of an equity composttc durmg the year 2013 | 12 - T :
2 k ) i ' R
Cash flovr weighting factor Portfolio {Sh.*million®) 3 Il i : (R
A B c a 2 it S, E
Market value as of July 31 ' 74.9 127.6 1104 5 10 2.5
: 6 2 2
External cash flows: ;
-August8, . 0.742 . .15 : Regptrel: i ;
August 12 e L [ : h (i) The characteristic line for stock C. - EF (5 marks)
Augustl9 .o . 0.387 R R M i T 1 )] ‘The systematic risk of stock C. . _.\ @g;‘( (3 marks)
Marker value as ofAugustSI 853 109.8 1284 _ ,, (i) The unsystematic risk of stock C. (jﬁ* i ﬁ S (3 marks)
Required: . ) : / G (TOT?“: 20 marks)
(:): ~ The returns of portfoho A a.nd portfullo B for August 2013 using the modified Dietz formula. ; QUESTION FIVE ' :

iarity of aratng At Sa e d e e are b AR s praseas of Sniaisiin e helr Sraneial madkets. el 7
Dietz formula = EMV ~BMV - CF (a) Majority of the emarging o eI gz ere in the process of Inicgrating their tinancial markets globally.




(&)

An integrated financial market in the world would achieve international efficiency, in the.sense that capital flows
across markets would instantaneousty take advamage ofany new information throughout the wayld,

Required: fogt V8¢
In relation to the above statement, summarise five factors that could hinder Jnrefutmnai ‘capital flows. (5 marks)
x :“ﬁﬁw

Distinguish between “stock based enhancing indexing” and “synthetic enhancing” in relation to equity portfolib 2

manzgement. ) (2 marks}

Bob Onyange, an investment adviser is counselling Angela Kibe, a client who recently inherited Sh. 1,200,000 and
has above-average risk tolerance (RA = 2). Angela Kibe is young and one of her objectives is to fund a comfortable

retirement, whereby she will earn returns that will outpace inflation in the long-term. However, Angela expects 16+

liquidate 8h.60,000 of the portfolio in 12 months to mike the down payment on a house. If that need arises, she has
expressed her wish that it will be Impurtam for her to take out lbe Sh.60,000 without invadmg the initial capital of
5h.1,200,000.

The three altemnative strategic asset allocations are shown below:

Investor's forecasts

Asset allocation Expected return Standard deviation of return
A 10% 20%
B T 1%
C 525% 5%
Required:
{i) Bascd on Angela Kibe's risk adjusted cxpecned returns, determine her preferred asset allocation. (5 marks)
(ii) Given Angela Kibe's-desire not to 1nvadc the Sh ],200 Dﬂﬂ prmcipa! calcu!m the shprﬂ“all lew =I Ry
. © {2marks)
(iii) 'Mwse Ange?a Kibe on the besL asset aliocatlon using Roy 5 safety criterion. : ' (4 marks) .
(iv) Recommend a strategic assél al_lchnun for Angela. =R {2 marks)
- I o e S y Vs 1 _. (Tohﬂ w mrks)




i 4o, tuexperience a loss in the portfolio value greater than 12% in any one year. The tax rate on salary is at 30%. You ;

: : E G-‘ E ! . . o . Lear : OTH = . . .
Mmr:r;-.:;ﬂ"uml ases j KASNEB e have determined that in twenty four years, the couple will aced Sh.6 miltion fo meer their education and retirement

_ i indB _ goals, s AT T
ot - PORTPOLIOMARAGEMENT | <« s PAWTINEECTION § Required: B g n e N
i 4 ; 3 4 - - 3 i e . e z -
FRIDAY: 7 June 2013, : ; e R T e T (i) Formulate the ns‘.{nbj_ectwgg for an investmient policy statement for the couple, - (4 marks)
g : & _ ; _ . S (ii) Formulate the retumn dbjectives for the investment policy statement of the couple. . -+ (2 marks)
Answer ALL questions. Marks allocated to each -question are shown ar the end of the question. Show ALL your workings. = (iii) Calculate the pretax return that is required to achieve these objectives. - . y (8 marks)
GUESTION QNE IR M i e A v i ; : . % () Moses Wesu compiles the necessary dala to estimaze the intrinsic value of his coumry’.s'bmad equity index. The
{a) Explain the f’ollowmgrradl_ng strategivs us used in bond portfolio management: - N g ai ; r current annual dividend for the index is Sh.2. The initial dividend growth rate is 6% and after twelve years, the
P g s o : g S P L. i Al s + -dividend growth rate will decline iincarly by a total of 40%. The discount rate to perpetuity is 5%, R
A1) Sector roiation trades.- 7 . e : s i (3 mare) ; } : _ .
iy Credit adjustment trades. - e i 5 c {3 marks) . . Required: : e e ; z
o (i), Yield curve adjustment trades, . ; ? T Gmaks) - .y Determing the country’s broad equity index price level implied by the H-model, . - - © . {6 marks)
. s e S i ) ; : o ) kb = ¢ {Total: 20 marks)
(b} The following inforination relates to portfolio A's return and the bond index return: TS e T E ; : .
i _—r Anle 7 : et ) o AN Y - QUESTION FOUR ” ; e ;
Period Porifolio A return (% Bond index return (% : * g ) {a) Describe the following terms as used in arbitrage pricing:
: i g (%) ) | ; ‘ : 5
5 080 ; 0.0 Caea b % {1) ~Index arbl_;rage_.. : - ) (2 marks)
3 Lis - 052 Aoy 2 € g o - K Dol - : L @marky
iy 047 o h R S - ¢ 7 (i) - Expiration day-effect : (2 marks)’
5 L71 i . 065 b B RTINS SR B M S r . ; ' ; ol 2
6 G 033 5 o Wi - Edison Ben s cansidering to invest in a 6%, 25 year bond selling to yield 9%; The modified duration for this band is
; . 10,62 and the convexity is 182.92, The required yield is expected to increase by 200 basis points from 9% to 11%, :
Rqu[Ei"cd: : . ; : ; " X s ; . = . = " i §
(i) The annualised tracking error fn basis points. i 4 - {6 marks) ‘ l:qmmj-' s ehiaa B el 2 ; # -
S ) Summarisc five characteristics of a benchmark used in pvaluating portfolio performance. (S5 marks) ‘The percentage change in price of the bond, % . b4 ‘ i (6 marks)
. % 4 . . : : {(Fotal m_‘?' he): 3 (e} . The policy committes of Usiku Investment Ltd. used reports from various security analysts to develop inputs for the
ou ESTION TWO' ) Y S %_‘5 _‘a‘w S single-index model, Output derived from the single-index model consisted of the following efficient portfolios:
i Discuss five obstacles to eross-border meroers, acquisit istings- 4wine— .. = Sepitet Car: il 7 A i : ;
{a} . stacles to Cr mergers,.acquisitions and listingg g "E: e T {10 marks} Portfolic  Expected return’ Standard deviation -
) Penda Lid. has invested in 100,000 sharcs of Leils Lid. The manggement.of. Fénda ‘Lid:are concerned about the 3 (g'}_. . ™ -(f“) ; : .
recent volatility in Leila Ltd,"s share price and wish to proieer the company’s investment from possible share price '_2 10 : ; a S : : .
fluctuations for the next three months, but do not wish 1o sell the shares at present. - No dividends. will be paid by Laily ek i S 13 i g % . T, ;
* L, during the nexi three months. ; L Tetiogget 8™ spes WRSNY i . T e =5 g & i :
_ . . : : 4 v Vs Wt S AT :
. o S i e O B Sy
The following marker dnta has been provided: ' 5_ t o] SR i g B
Leila Lid."s current share price Sha. oo i e Sy = Reréuiréd‘ R 2 b '
Call option exercise price Sh22 : ! B o = - Y W W= : : i .
i ::) expir:r- P A8 St . o . (i) The optimal partfolio 4t a _qsit free rate -of_ 6%. : ) {6 marks)
by ais ';smma N e __. R W : ’ L (i) The expected portfolio return at a standard deviation of 12%, ; ; {2 marks)
Volatlity of Lelta Lid.'s shares - 50% (standard deviation per annim) QUESTION FIVE el F o B ; ATtk 20 mdsie]
; G g - ; - E Ve % = : C (a), Explain the following terms as used in behavioural finance: e i ; o
. Option contracts are for purchase or sale of 1,000 units of sharoes. 3 ) ! ; Gy » T ) % e '
; . . ' ) (i)  Anchoring trap. . : e RS T (2 marks)
Required; ¥ e - " : : : e . (1)) Cognitive dissonance, ’ i e ¢ {2 marks)
(@) Devise a deha hedge that s expected to protest the invesiment against changes in the share price for the nact (iiiy  Hindsight bias. N : Tl : - (2 marks)
o three months. j L A ? (8 tnatics) i + (v} Social proof, - e T o ad SRse e ms (2 markesy
(i) Comment upen whether or nat suclia hedge is likely to be totably successful. = (2 marks) - I P § : ' .
e e el ; 3 i  (Total: 20 marks) : (b)  Besty Lid; has provided the following information about & portfolie:
QUESTION THREE s e : ; - . ; - a * e sy :
(a} - George and Mary. amai aré & couple lving iivarrented apartment in the capital city of your country.- Gepree, aged § Eﬁ:g:s E;:}:rr;::: e lg:?
| .. thitty years, is an assistant manager at'a telecommunication company and eams an annual salary of Sh.1,200,000 S!almdard'd atan of s £ g T 2;%
befors taxes. Mary, aged twenty five years, stays at home to take cars Of their newborn twins, She has recently won i *la:a‘ard deviaﬂr:: nssc: 5 . é'g% ¢
1,000,000 from a i ision stati . Bk o ) i o ;2
5h.1,000.000 from a iocal television “ 0 SR s.ht_:\_ﬂ\ N ! iy f i - Carrelation coefficient of thé portfolio with macket -~ 0.9,
+ The couple have accumulated the following assets at current market value: $h.500.000 in cash, $h.1,600,000 in siocks ; s )
and bends and. $k.2,200,000 in the telecommunication company stock. the e T X . Required: : s e o . : i ;
A e ; SR ey 2 : . ; g ) i The expected rate of return of the portfolio, ' . i y | (4 marks)
..., The couple needs 5h.3,000,000 as the final payment fur the purchase of a house and plan to make a Sh.500,000 4 O Rt e e 5 7 ; ; i SR
" donatien ic a focal charity. Their annual living expenses are S900,000. After tax salary increases will offset any (e) In relation 1o equity pertfolio management, discuss the foliowing:
future inereases in their living expenses, As they hold discussions with their family financial advisor; they express A : : e : I ; , 3 ty s
cancern about achieving the education goals of their children and their own retirement goals. The cotple intends to {1} Two types of style analysis.. : i ; . {4 marks)
have sufficient funds te retire in twenty four years when their childven complere thelr niversity educztion, They have t ; {11) Twa types of enhanced indexing strateuies. (4 mailks)
been unhappy with the portfolio volatility they hive experisnced in the recent years. They state that, they do not want [Tuta 20 maet




| USEs PART HISECTION S

PORTFOLIO MANAGEMENT

THURSDAY: 6 December 2012, Time Alawed: 3 hours.

. Ansaer ALy questions. Marks a!hmwd to each egnesri’sn are shawn 2t the cud of the ynestion. Show ALL twrwaﬂdng.
QUESTION ONE

fai, rhgbhg‘u rnur limitations of the sharpe ratio as a narfoha performance measure, (4 nmks;

'mr Bsag b]x.l mr!han 10 invest and wouid like 1o acln:v: a 1"% cate afrewn on @ pun‘folm consisting of'a m.k

s5et fndt the marker portdolic of rishy assets. The risk free § Faie § 3%&:5 iht: expocm:. rﬂum on the. mﬁm
“pertielio of risky assers is {345,

Required: ) :
The amourit the investor would need to barrow at the risk free rate in order to achieve the I_T'! mme: expected remm

“Highiei

gy e .
v cnly {AD) appmach in straD:“lc asset alloca

Jifdy: : : P

J ab:oad cqurt,y Hniverse. CThe'd
miond Marufacturing Ll s inve 2
'muuypmtfnm formeﬁmief e:zﬁ:d W E:

Welght (%) . : _
Portiolie  Custom benchmark  Porifolio Custon
16,36 T

uring &
Twﬁmwwaiemm ‘and "aﬁ‘mhg)
Taral Ponfolio

LT he* wn‘hm secmr” aI]ocatlcn {security selection’ retpn I’U;’ the Teleco
 afhe pantfolic for the quarer ended 30 Septé (i3}

! a'tacnml smfegy, FCAM wm:]d

% siock and 40% bands usid o
5.5 1 3.0, FCAM is wilfie to use 2 stock’ indey; fiares.

“of 098 ant! ‘a bond i‘ulures' 'mtmct whlch is pmed at

“Atthe hmmn dai; the stock portfoiw has fallen by 3% and the bonds have fisen
liéDmﬂiMbmdﬁdﬂmm!sShiQ&m Z

Required: ; R e E
i} ‘The number of share indey frres comraces. : 3 mmrksy

i 34y Ve el
{ii) The number of bend indes .'“ulurqs contracls, @ ma:xs. _

fiti} Detzrmine if FCAM should go long or shert based on calcnizrions in {b} i1y and (b) (iy-above. (4 marks!

{iv)  he market value of the portiolio fn which the aligeation is adiasted using funites. | . {6
et i i 5 s : :mauemma

Q! ESTION THREE :
[a} Describe the foilowi mg value and gwmh subst\ [cs as used in actively manuged ethr pDrIfDIIOS

1i; High visid growth mb@;h!e ' ; _ s e, mE R w2

[T S i

- Addiiopatinformatisn:

- Consistent growsh substle!

H i r_.anh bond Hasa’ovalper»a.vcors 1501 il

. (ﬁ.].

.Zﬂwkﬁ:

GUESTHON FOUR : L 5 . =
(&} Discoss four major elements of an insestmiznt poticy staftment @ ine conlext of pardfolio messzenen, f mark:.!
(b) Execution cests can reduce the sxpeced rerum and diversification benefits of an active global investment smare, ""'.
Reguired: b e gillrer _1-(— .i‘-
- With mfcre’noe o tbe avove statement, analyse three components of e:xzc;mma costs. T 7 _(.7.|_:1_ﬁ_r 1
i} Afier 3 iengthy career ax 2 Consulizar, Chrinine Rodch recendy retied 51 !!ze, e of 70 yeas -d & mgg m‘mﬁ"

J ; Christine R,n!ich g Jowpn Rom:h
Year Age Pf(}hﬁh[ll‘l} {survn'a!) ey
1 " i p , BESE
2 b
3 e
3] T80

© snandmg retirement with her hushand. Joseph Kotich. Although both Christine and Joseph Rotich ’
they would prefer te maintain their present life style which currently requires an annual spending of Sk ‘00'000 m rea,
terins, Inflation is expeelea. i be 5 per cent and the nominal nsE. :‘nee: reme is 9.2 pe*' cent, - ;




: conseqiiences of 10_3‘5;év'é_ﬁé@ﬁ'ﬁﬁsﬁi}tingﬂn;@ﬁi-m&ﬁ

-

Describe .L!‘rree.stranges which could be used 1o,
o Sy

Ris n Portfolio A
= R“k {?ﬁ'ur. 3 Factor sepsitivily
- . Confidence tisk : 02 ‘
Time horj i ;

ifthe portlotio’s standard deviation

PORTFOLIO MANAGEMENT A PART 111 SECTION §

THURSDAY: 31 May.zl[ﬂz. : : T Time Allowed: 3 hours,

Answer ALL questions. Marks alloea ted to cach question are shown at the end of the question. Show, ALL your
workings, i : ¥ )

QUESTION ONE ; o i e g ' :
(a) (i Discuss three major finctions of an investment policy statement (i P8} in the portfolio management process.
. : ; % (6 marks)

{iiy Richard Kweli has devéloped an investment polilcy staternent (IPS) for Uwezo Foundation (UF), a charitable
I organisation whose stated goal s'to enrich the lives of disadvantaged children in the society. The risk

tolersnce and return requirements for. Liwezo Foundation are as summarised helow:
¢ Risk tolerance )

Above average (maximum 15% annual standard deviation of returns),

®  Return requirement

To earn an average annual return to meet g spending rate of 7.5% {including expected inflation) and,
management and administration: fees of 0.6%. :

To assist the foundation assess the appropriate sirategic asser alfocation for Uwezo Foundation portfalio,
Richard Kweli has prepared the camer portfelios in the table below based on his capital market expectations.

A tisk-free portfolio s available and is expected to return 4%, The ditectors of Uwezo Foundation consider
the Sharpe ratio to be a dominant factor i asset allocation decisions.

Corner portlolios

- ] T
Partfolio weights ! . |
Cormer | Domestic | Non-domestic | Domestic Domestic | Domestic | Expected | Expected Shat.'pe
portfolio | Equities Equities intermediate | long-term | realestale | return stan dard ratio
term bonds bonds deviation
(%) (%) (%) (%) (%) (%)~ %)
T 100.0 XN 00 0.0 0. 89 154 02712
5] : 6.2 e 0.0 [ X4] 0.0 1.7 168 0,289
3 LY 240 | 0.0, 4.0 1.4 3.3 1.0 281
4 556 22.6 0.0 9.3 12.3 B2 149 | 0.282
5 33.2 el 133 0.0 £.8 «8.0 14, 0.284
6 3256 262 IS T 0 | 7 10 0282
7 0.0 245 152 0.0 o i7 47 0.221
> 2 1.,
L] 0.0 I35 845 0.0 (.0 53 1.5 0220 !
Required:

The strategic asset allocation that is most appropriate for Uwaro Fuundatian_ using mean variance analvse,

i ing Limited is about to ad ity portfolic. OF interest to her
Gina, a portfoliv manager at BMC Consulting Limited s about to adjust her equity po f Inieeesd I e
" r:'ty up?:rn?nz initial pubiic offering (IPQ). for Aipha Lid. and a review of ABC Lid. To analyse the initial px_J:EaIn:_
offering, Mary Gina uses data from peer companies with business lines similar to Alpha Ltd. and :I:ombmes thcm_._n:q
an equally weighted portfoiio to approximate the anticipeted behaviour of Alpha Ltd’s stock once it-becomes pubhc.?f
Jraded, Some of this information is presented below. : ) i ¥

Alpha Ltd: peer firms monthly data )
December 2006 to December 2011 (Returns measured as decimal)

. 2% Alphs Lid. proxy portiolie: - Market
Average monthly requry ; . D.0051 3 0.0025
7 Varianca of returns . BO03% b0zt o ; .
Cevariance with market return 0.0015 5 6.002] . :
Correlation. with market return 1.5697 1000 = ; '

The current’ 182-day Treasury bill rate is 5%, The écnnc:mis: of Bﬁt--céﬁsuhiﬁé Ltrmted an-fiéipaka a market risk
premigm of 8% on stock marie investments. ;i -

= Whils .Teviéwing ABC Ltd. to.decide whether it should be retained or.removed fron. the equity portfolio, Mary Gina
notes that ABC Ltd. has 2 beta of 1,2 and a forecasted return of 2%, ' ;

Reguired: _ | ;
(0] The estimated beta for Alpha Ltd, i 3 m&fgs}’
(i) Advise Mary Gina on whether to invest in ABC Lid. . : (3 marks)
; - [ -y " (Total: 20 waris)y
QUESTION TWO

{a) Describe three main inputs to the macro giributionanproach in evaluating pertfolio performance, ( {@s;

(bY Assess three factors that conld introduce potential bias in the measurement of portfolio risk and performance.

(6 marks)
() The average variance of return of all stocks in a portfolio is 625 and the comrelation between the returns of any two
stocks 15 0.3,
Required:
(i) The variance of return of an equally weighted portfolio of 24 stocks, (4 merks)
(i) The variance computed in (c} (i} above s a percentage of the portfolic variance achisvahle given an
unlimited number of stocks. (4 1naris)

(Total: 20 marks)




QUESTION THREE ' w3

&) Explain four types of active bond portfolio management sirategies. '\\\}Kx{:ﬂi’w {8 macks) (il The persanal investinent portfolio of Benta Kamoga consists of bonds with a value of 8h.12 m!]l_l()'lrf and ad
e ok ? : Juh G = medified duration of 5.50 years. Renta Kamoga is concerned with the rising inferest rates and &ishes (0
{b) It world markets are segmented, then impediments to the flow of capital prevent investors from taking advantage of reduce the bond portiolio modified duration to 2 years using interest rate swap with 2 modified duration of ,

relative mispricing between countries, In this case, the prics of similar sceurities will not be equivalent in all marksts, *
and superfor performance by some investors may be possible.

-2 40 years for the pay-fixed side.

]

| Required: : - i 3
Required: ) The notional principal of the pay-fixed swap position to be entered to reduce the portfulio modified duration
With reference 1o the abova statement, examine four potential impediments to the miemational flow of capital. to the desired 1evel. [ (3 marks)
{4 marks) 3 {Tatal: 20 marks),
(e} Yaou are provided with the following information about twe pertfolios, A and B:
Portiolic A Portfolie B
Average excess retums (Vo)———1324 8.52
Standard deviation (%) — 2238 32.35
Bet.... = v 0.935 ~,
Alpha (%)~ T RS e 10
Residual standard deviation (%——-15,73 2816
The risk-free rate is 3% and the benchmark siandard deviation is 0%.
Required: T . ”
For each portiolio, calsulate the following measures of performance:
i : : 2 marks
m Sharpe measure. (@ marke)
maris ¥
(i)  Treynor measurs. G ).
; : (2 marks)
) {iii) Appraisal ratio.
3 e G e % marks)
. (v)  Modiglini-squared (M. - T e ' (Total: 2% marks)')

QUESTION FOUR ' i g I ) _
{a). Explain three assumptions sufficient to guarantee-that the market ponfolieis an et_ﬁment nortfolio. {3 marks)

: Ari sial an ed thi i effcient he rate of return on Knowlode
b} Alusa Aringo, a financial analyst, has forscasted the correlation coefTicient bftwcen f ; !
® Mutual I-‘ung;ioand the market portfolio at 0.8. He forecasts the standard deviatiens of the rates of remum to be0.25 for. _ :

Kaowlode Mutual Fund and 0.20 for the market portfolio.

Regnired: S
Advise how Knowlode Mutal Fund and the risk-free security should be combined to abain a portfolio with a
beta of 1.5, . (6 unarks)
; () Qutline seven steps followed when formalating the portfolio management process.. {7 marks)
(dy A two person fund management company has a portfolio with a markst value of $h.30 million. The firm’s investment " " &
policy statement specifies a floor value of $h.20 million und 2 multiplier of 2. -;-é i
¥ # ‘
Reguired: "
) The desired equity position under constant proportion portfelia insurance (CPPL) strategy. {3 marks)
‘ {ii) The resulting asset mix. (1 mark}
; & (Totak 20 marks)
4 ,
QUESTION FIVE &
(a) In practice, # is important 1o consider several characteristies of the individual bonds that are used to construct an
imnunised portfolic,
Explain three bond characteristics that must be considered when immunising a bond portiolio. {6 marks}
(b} Magenzi Ltd. bonds have a face value of Sh.1,000, 8% coupon rate and four years 10 maturity.
The yield to maturity (YTM) is 10%.
Required:
(i) Macaulay’s duration. 3+ (6 marks)

(i1} Maodified duration, 2 {2 marks}

i
(c) (i) Explain three aveas where interest rate swaps are used in portfolio management. {3 marks) ') ’
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